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Question Number : 1 Question Id : 92775911135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. TANGENT

2. TRACING

3. TENNET

4. TANNED

5. TANKER

Options :

1. % 15342
2. % 34512
3.9 15432
4. % 24351



Question Number : 1 Question Id : 92775911135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 77U Wsal o1 39 HH & HafRUd HX o o1 H d UsGhIRT 7 81d 5|
1. TANGENT

2. TRACING

3. TENNET

4. TANNED
5. TANKER

Options :

1. * 15342
2. % 34512
3.9 15432
4. = 24351

Question Number : 2 Question Id : 92775911136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following series :
UILF, W4D, Z9A, , [25R

Options :

1. * DISM
2. % WI15D
3. ¥ DI6W
4. = D25W

Question Number : 2 Question Id : 92775911136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffad e 4 du ug I e
UIF, W4D, Z9A, , [25R

Options :



1. ®* DI5M
2. % WI5D
3. ¥ DI6W
4. % D25W

Question Number : 3 Question Id : 92775911137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following letter cluster series :
f eed fde df de df

Options :

1. ¢ dfefe

2. % fedef

3. # ffdee

4, % eeddf

Question Number : 3 Question Id : 92775911137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad sfeR T Y & g ug I1d He:
f eed fde df de df

Options :

1. ¥ dfefe

2. % fedef

3. # ftdee

4. % ceddf

Question Number : 4 Question Id : 92775911138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the given series:
EG, HK, KO, NS, QV, TA



Options :
1. % EG
2. % HK
3.4 QV
4. % KO

Question Number : 4 Question Id : 92775911138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 18 gfaan § Ted Ug J1d

EG, HK, KO, NS, QV, TA
Options :
1. % EG
2. % HK
3.9 QV
4. % KO

Question Number : 5 Question Id : 92775911139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Thomas Edison : Bulb

2. % Alexander Graham Bell: Telephone
3. ¥ Wright brothers : Railway Engine
4. # Charles Babbage : Computer

Question Number : 5 Question Id : 92775911139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T iimedl H @ & T RfYd ai A U &1 §TalTP, T faed 3/ diF o1 oRE el ¢ | 39 f[dhcd o1 I8 &Y off 37 ¥ AT B




Options :

1. % YAy TSN : §cd

2. % TGOS UTeH dd: GRHTY
3. ¥ AZC &Y : WA-SoH

4. % IR dO : HELR

Question Number : 6 Question Id : 92775911140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # Rupee
2. ¥ Mile
3. % Euro
4. % Dollar

Question Number : 6 Question Id : 92775911140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few Tt fimedl H @ & T [Rfyd o 3 TUM &1 g1, T fahed 3 diF o1 oRE el ¢ | 39 f[dhcd T I8 &Y off 37 ¥ AT B
Options :

1. % 20q]

2. ¢ Hid

3. % QR

4. % IR

Question Number : 7 Question Id : 92775911141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :

1. # QPONM
2. # HGFED
3. % AWYZX
4. % VUTSR

Question Number : 7 Question Id : 92775911141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Riweul A @ & e Rfyd % A TuE g1 g1, T [aeed 3 diF o1 oRE el ¢ | 39 fdhed o1 I8 &Y oY 310 ¥ 3T B
Options :

1. ¥ QPONM

2. # HGFED

3. AWYZX

4. % VUTSR

Question Number : 8 Question Id : 92775911142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # CORONA:OCORAN
2. ¥ TAMPER:REPMAT
3. ¥ MEASLE:EMSAEL
4. % DENGUE:EDGNEU

Question Number : 8 Question Id : 92775911142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu T Riwedl A @ & e RfYd % A TUE &1 BT, Tk faed 3 diF o1 oRE el ¢ | 39 fdhcd o1 I8 &Y oY 310 ¥ AT B

Options :



1. * CORONA:OCORAN
2. ¥ TAMPER:REPMAT
3. ¥ MEASLE:EMSAEL
4. % DENGUE:EDGNEU

Question Number : 9 Question Id : 92775911143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Atheletics : Track :: Golf : ?

Options :

1. ¥ Course
2. % Court
3. # Ring
4. % Arena

Question Number : 9 Question Id : 92775911143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y fawed o1 T o Sl TR Ue I S TR J Fefdd § O TR I gER1 U Ugd U § WEfid B
QW:%::TW:?

Options :

1. DR

2. % PIC

3. % R

4. % QAT

Question Number : 10 Question Id : 92775911144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the pair that is related on the same basis to the pair given in the question.
XCF : AF1:: GWD : ?



Options :
1. # KAI
2. % JAH
3. #* JBH
4. ¥ J7G

Question Number : 10 Question Id : 92775911144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT T B o Uy H < 1S ST A IHH UHR T Tafd 3|

XCF : AF1:: GWD : ?
Options :
1. % KAI
2. % IAH
3. % JBH
4. ¥ J7G

Question Number : 11 Question Id : 92775911145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Pencil : Sketch Artist :: Needle : ?

Options :

1. * Stiching
2. ¥ Tailor
3. % Thread
4. % Cuff

Question Number : 11 Question Id : 92775911145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 ot &1 999 B I e Ue J I UHR ¥ afid § oy TR ¥ k1 Ue Ugd Ue & Hafdd 7




ﬂﬁa:@mw::ﬁ‘s‘:?
Options :
1. % fers
2. ¢ ol
3. % Y[
4. % hh

Question Number : 12 Question Id : 92775911146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
DJQO : GGTL :: KTFR : ?

Options :

1. # NIOS

2. ¥ MUHT

3. ¥ NQIO

4. ¥ MGUR

Question Number : 12 Question Id : 92775911146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed BT 997 B S ik UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Haifed g
DJQO : GGTL :: KTFR : ?

Options :

1. % NIOS

2. % MUHT

3. ¢ NQIO

4. % MGUR

Question Number : 13 Question Id : 92775911147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code language, if INSTAGRAM is coded as RMHGZTIZN, then how will FACEBOOK be coded as?
Options :

1. # UXZYPVLL

2. % UZXXYPLL

3. % UZXVYLLP

4. % UXVYZLLP

Question Number : 13 Question Id : 92775911147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Af3d ®Is YW H, IS INSTAGRAM &I RMHGZTIZN & ¥ & $IfSd fasan 71 8, ff FACEBOOK &1 &l TS fdal ST
Options :

1. ¥ UXZYPVLL

2. ¥ UZXXYPLL

3. % UZXVYLLP

4. ®# UXVYZLLP

Question Number : 14 Question Id : 92775911148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if wall is called ceiling, ceiling is called ventilator, ventilator is called sofa, sofa is called roof, and roof is called
window, then what will a person sit on?

Options :

1. ¥ Roof

2. # Ventilator
3. % Wall

4. ® Ceiling

Question Number : 14 Question Id : 92775911148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3R Bd I RISH! BT AT 5, ) T Afad fhd TR a3
Options :

1. ¥ Sd

2. % Hdrded

3. % faaRr

4. % e

Question Number : 15 Question Id : 92775911149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if PRESEMPTUOUS is coded as 6, how will DELIGHTFUL be coded as?
Options :

1. * 6

2.¥5

3.% 7

4. %3

Question Number : 15 Question Id : 92775911149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Y ®Ig U §, IfE PRESEMPTUOUS &1 6 & U H Pifsd fha1 TR ], af DELIGHTFUL &1 $d Sifed fobar S
Options :

1. % 6

2.¥5

3.% 7

4, % 3

Question Number : 16 Question Id : 92775911150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, if SET is coded as 37, how will DATE be coded as?
Options :



1. ¥ 78
2. % 87
3. % 74
4. % 86

Question Number : 16 Question Id : 92775911150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3d Hie U H, afe SET &1 37 & U 8 $IfSd fa1 71 5, Al DATE 1 B4l dhifed fohal Sa?
Options :

1. ¥ 78

2. % 87

3. % 74

4, % 86

Question Number : 17 Question Id : 92775911151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, SENTENCE is coded as VCQRHLFC , then what is the code for STATEMENT?
Options :

1. ¥ VRDRHKHLW

2. % WRDRHKHLV

3. ¥ VRDHRKLHW

4. % VRDRHLKLW

Question Number : 17 Question Id : 92775911151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Afd HIS YIS H, SENTENCE &1 VCQRHLEC & %0 § &IfSd fur a1 8, O STATEMENT & ot 1S o1 82

Options :
1. ¥ VRDRHKHLW



2. * WRDRHKHLV
3. #* VRDHRKLHW
4. * VRDRHLKLW

Question Number : 18 Question Id : 92775911152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family has a woman, her husband and their three sons and their wives. The family of each son has two sons and a daughter. Find the total
number of male members in the famly?

Options :
1. % 17
2.¥10
3. % 15
4. % 13

Question Number : 18 Question Id : 92775911152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T% IRAR # Afgd, IUHT Ul 3R 3 o ¢ 3R 3! Uferdi § 1 T o & IRAR H &l G 3R T T g | URaR & g3y Ie=ll &t
Pl G- A1 D2

Options :

1. % 17

2.%10

3. % 15

4. % 13

Question Number : 19 Question Id : 92775911153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a family of five persons - P, Q, R, S and T.

They are working as a dentist, a trainer, a businessman, a doctor and a faculty.
Q is an unmarried trainer and is the daughter of P.

T, a doctor, 1s the brother of R.



There is only one married couple and R is the husband. P, a male faculty, has two sons and an unmarried daughter.
Daughter-in-law of P is dentist.
Which of the following is a married couple?

Options :
1. ®* PQ
2. % PR
3. % QR
4. ¥ RS

Question Number : 19 Question Id : 92775911153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % pQ

2. % PR

3. % QR

4. ¥ RS

Question Number : 20 Question Id : 92775911154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven friends H, I, J, K, L , M and N are sitting in a circle facing the centre. N is sitting second to the left of J, who is to the immediate left of M.
H is third to the left of L. I is between K and L.
Which of the following pairs has the second person sitting to the immediate right of the first person?

Options :
1. ® IL



2. % JH
3. ¥ KN
4. %= NK

Question Number : 20 Question Id : 92775911154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A H, LI, K, L, M 3R N, $% & A Hg HRb T R A IS I N, J F I I G WM R 31 7, ST M & T8 918 I R RIF R
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Options :
1. % IL
2. % JH
3. ¥ KN
4. % NK
General Ability2
Group Number : 2
Group Id : 927759456
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 927759482

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759573
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775911155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a photograph, Anil said, "He is the father of the grandson of the only son of my father's mother."
How is the man in the photograph related to Anil's father?

Options :
1. # Father
2. % Son
3. % Brother

4. * Grandson

Question Number : 21 Question Id : 92775911155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH dWR BT 3R IR HRd g, e 7 Hgl,"dg AR fUdr &1 A1 & Shald o & Uid & ar gl "
TER # fRd 73w 3ifet & I | 8 Teifra g2

Options :

1. % fodr

2.9 UF

3. % 4TS

4, % I




Question Number : 22 Question Id : 92775911156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.

Statement :

All jam are butter.

All butter are ghee.
Some ghee are oil.

Conclusions:
I. All jams are ghee.
II. Some jam are oil.

Options :

1. ¥ Only I follows

2. % Only II follows

3. * both I and II follows

4. # Neither I nor II follows

Question Number : 22 Question Id : 92775911156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AUy H, 3 HYA AU MU B, s a1 &1 s 1 31R 11 T T8 § | 98 Ad U fb e & @uft TRt 9 ©, & sl &1 U ary
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YT H ST Ao B |
gyt AoRa ©i B
PO AT

ey

L g St g
L HSAH TR

Options :




1. ¥ $Had [ 3R SR §

2. % Had I IRV HRT §

3. % 1 3R 11 G SER0 PR §
4. % 1 3R B 11 SJAR0T IRl §

Question Number : 23 Question Id : 92775911157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two assumptions numbered I and II. You have to decide which of the assumption is implicit

Statement: The book "Dongri to Dubai" is the best book to learn about the gangsters of Bombay.
Assumptions:
I. A person who is interested to get the information will read the book.

II. There are other books in the market which depicts the life of gangsters of bombay.
Options :

1. # Only I is implicit

2. % Only II is implicit

3. ¥ Both I and II are implicit

4. % None is implicit

Question Number : 23 Question Id : 92775911157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUY H, HYT P 91 o YRUME 1 3R 11 S 713 B | 3MTUP! T8 T8 BT ¢ b i Tt yron fAfed 8
HY: IS P b3 & IR T S & oI Twash "SITRY ¢ gas" Ty 3! I & |
YRUMY:
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I1. ITOTR H 30 Q&b § ol a1l & AT aeg3if & Sfia- &I g g |
Options :

1. % Bad1fAfkd g

2. % Haanffgag

3. ¢ 13R 1M fRfga ?

4. % o M ART TS 8

Question Number : 24 Question Id : 92775911158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.

Statement : No stone is a brick. Some sand are bricks. All stones are rocks.
Conclusions:

I. Some rocks are bricks.
II. No brick is a rock.

Options :

1. % Only I follows

2. % Only II follows

3. % Both I and II follows
4. ¥ Either I or II follows

Question Number : 24 Question Id : 92775911158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had | IR0 FRAT §

2. % Had I 3IERU BT §

3. % [ 3R 11 ST SFERI Rd §
4. T 1111 SR AT 8

Question Number : 25 Question Id : 92775911159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes in options :

Assertion (A): Heavier objects falls slowly than lighter objects.

Reason (R) : The force of gravity is more for heavier objects.
Options :

1. # Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. % As true but R is false.

4. ¥ A is false but R is true.

Question Number : 25 Question Id : 92775911159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 feu T uy 7, Sifiidud (A) 8TR ®RU(R) & ©9 H RIfgd & &u= g1 faswed! 7 fU U e & SIgAR U1 IR fafgd &
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Options :




|.% A 3RRTTII S AR R, A BT el WHIHU g |

2. % 3T A 3R R I 8 Afb R, A HT Jg! WFIH0 T8I B
3. % A I g AfBAR TT B

4. ¢ AT g APTR TR

Question Number : 26 Question Id : 92775911160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following number series:
2,17,137, , 8777

Options :
1. ¥ 1097
2. % 347
3. % 549
4. % 1290

Question Number : 26 Question Id : 92775911160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad den gadr o qw ug I1d &
2,17,137, 8777

Options :
1. ¥ 1097
2. % 347
3. % 549
4. % 1290

Question Number : 27 Question Id : 92775911161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two numbers should be interchanged to make the below equation mathematically correct?
5+417x7-4+2=50



Options :

1. % 4and 5
2. % 2and 4
3.% 17and 5
4. % 5and 7

Question Number : 27 Question Id : 92775911161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu U gHiHRu &1 el S99 & fold fob1 & daaraf &l Oy U I IRER Jea-l diigd?
S5+17x7-4+2=50
Options :

1. % 43R5
2. % 23R4
3.9¢ 17 3R 5
4. % 53R 7

Question Number : 28 Question Id : 92775911162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 7022
2. % 2540
3. % 3620
4. ¥ 5016

Question Number : 28 Question Id : 92775911162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiweul A @ & e RfYa % T THF B 1 gTalTP, T [deed 3 diF o1 oRE Tl 8| 39 fashed o1 Iu- Y oY 30 ¥ 3T B




Options :
1. * 7022
2. % 2540
3. % 3620
4. ¥ 5016

Question Number : 29 Question Id : 92775911163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the numbers from 1 to 100, which are exactly divisible by 3 are arranged in descending order from top to bottom, then which number will be
15th from the top?

Options :
1. ®* 60
2.9 57
3. % 63
4. % 54

Question Number : 29 Question Id : 92775911163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%E;ﬁl@r100%&%,@%3@&@mﬁnw%,@ueﬁﬁwm&wﬁm@mmw%ﬁqﬁﬂﬁawdaue“@rls?:ﬁ'
§

Options :

1. % 60

2.¥'57

3. % 63

4. % 54

Question Number : 30 Question Id : 92775911164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram shows the number of people in a society who play Golf, Hockey and Tennis. There are 170 people in the society. How



many of these people play Golf?

Golf Hockey

a
(N
>/

Tennis

Options :
1. % 32
2. % 40
3. % 57
4. ¥ 178

Question Number : 30 Question Id : 92775911164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 32
2. % 40
3. % 57
4. ¥ 78

Question Number : 31 Question Id : 92775911165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Venn diagrams best represents the relationship between land transport, air transport, bicycle and car?

Options :

©C
9C

. O



LA

Question Number : 31 Question Id : 92775911165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 91 o S Y uRded, arg uRkag, AEfed 3R R & ol & Jae B! Tad 33T SR8 2

Options :

©C
9C

. O




AN

Question Number : 32 Question Id : 92775911166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between cow, lion, herbivores and carnivores?
Options :

OO

2. %

3. %



4. %

Question Number : 32 Question Id : 92775911166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad # @ 19 91 39 3T T, TR, ApHeR 3R ArgHal & d P Ty b T 33T ITdT 82

Options :

OO

3. %



Question Number : 33 Question Id : 92775911167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

O +|+ Olg $

$ £l £ $|+ O

Options :

$ £

LvlO +




$ £
;% |+ O
O +
L x| $ £

Question Number : 33 Question Id : 92775911167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 9 o T SR SHid Ue 3pid o1 Raa & IRT HReT 82
O +|+ O|¢ $

?
$ £|£ $|1+ O
Options :
$ £
1. ¢ O +
$ O
2. % T £




Question Number : 34 Question Id : 92775911168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of all the figures, three are similar in a certain way. Find the one that is different from the others.

|~

A B c D
Options :

1. % Image A
2. % Image B
3. % Image C
4. % Image D

Question Number : 34 Question Id : 92775911168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt srepfadl § 9, i T fAfda de & THM €| 98 I1d L Sl 37 ¥ ST 5 |



A B c D
Options :

1. % BfdA
2. % BfdB
3. ¥ BfdC
4. % BfAD

Question Number : 35 Question Id : 92775911169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

INIHEEAE: A

Options :




&
©
4 @

Question Number : 35 Question Id : 92775911169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &1 997 B S die] Bf J I TR § Faiftrd g o TR ¥ geRl ia ugel 8fd § Tl |

N.@:: | 7

Options :




)
©
©

Question Number : 36 Question Id : 92775911170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the following matrix.

N7 2N
AN
N4 ?

Options :




Question Number : 36 Question Id : 92775911170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed smegg o qu sefa I &1

N7
NS
NZE

Options :

2.¢




RO\

O

Question Number : 37 Question Id : 92775911171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

M
N
Options :
@
@
@
++++
1. ¥
@ e @
2. %




@ e a

Question Number : 37 Question Id : 92775911171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Tep qUUr B X@T MN TR T ST ©, oY SR 3ATepia | V1 Y & 71 3repfay ot el ofd 82
M

Options :



@
@
&
+++ +
1. ¥
o 2 @
2. %
[
3. %
4. %

Question Number : 38 Question Id : 92775911172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the following question, four positions of the same dice is given. Which number will be at the face opposite to the face having the number 7?

4 6 7 1

1 5 3 5

Options :
1.#% 5
2.% 6
3.1
4, % 3

Question Number : 38 Question Id : 92775911172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy d, T 8 U & IR U AT U §1 T3 7 a1 s & [AuRld s WR i Y T g2

4 6 7 1

Options :
1. %5
2.% 6
3.¢1
4, % 3

Question Number : 39 Question Id : 92775911173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many maximum number of squares are there in the given question figure?

Options :
1. % 24
2. % 28
3. % 35
4. % 30

Question Number : 39 Question Id : 92775911173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 1S Uy 3pfa H fpan sifiidaw o g2

Options :
1. % 24
2. % 28
3. % 35
4.9 30

Question Number : 40 Question Id : 92775911174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given answer figures, select the one in which the question figure is hidden/embedded.



X)

Options :

2.¥

X
X
X




Question Number : 40 Question Id : 92775911174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




2.¥

3. %
4, ®
General Awareness1
Group Number : 3
Group Id : 927759457
Group Maximum Duration : 0
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Group Marks : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759574
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 92775911175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kuchipudi dance form was originated from which of the following states?
Options :

1. ¥ Andhra Pradesh

2. % Madhya Pradesh

3. * Mabharashtra

4. % Punjab

Question Number : 41 Question Id : 92775911175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIIYS! T el b1 Faaf Fafeiad # 9§ fovw g A gs o

Options :



1. ¢ AR YW
2. % HE U
3. % ERIY
4. % USd

Question Number : 42 Question Id : 92775911176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kajri folk music is associated with which of the following states?
Options :

1. # Kerala

2. # Karnataka

3. ¥ Madhya Pradesh

4. ¢ Uttar Pradesh

Question Number : 42 Question Id : 92775911176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 forg I5a  HoRl did Sid 98T 82
Options :

1. % D

2. % HHICH

3. % AH YR

4. ¥ IR YU

Question Number : 43 Question Id : 92775911177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Hemis Festival is a colourful -day affair that falls on the 10th day of the Tibetan Lunar month.
Options :

1. # four



2. % one
3.4 two
4. % three

Question Number : 43 Question Id : 92775911177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HLSEERCRIE! - iy Ia ¢ o fosselt o= A & 103 37 S g |
Options :

1. % dR

2. % Udh

3./3

4. %

Question Number : 44 Question Id : 92775911178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nongkrem dance is a traditional dance form celebrated by the people of
Options :

1. # Sikkim

2. ¥ Meghalaya

3. # Tripura

4. # Nagaland

Question Number : 44 Question Id : 92775911178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T U IRURS I ©U § ford & AT GRT AR ST 8 |
Options :

1. % fapa

2.« WY



3. % g
4. % NS

Question Number : 45 Question Id : 92775911179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gross Domestic Product (GDP) + Income from Abroad - Depreciation =
Options :

1. # Private Transfers

2. # Net Domestic Product

3. % Gross National Product

4. ¥ Net National Product

Question Number : 45 Question Id : 92775911179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
bl IR IATE + I H I - JeIg =
Options :

1. % Sl RIR

2. % g <=itg Ide

3. % Yhol AP IdS

4. ¥ Y& AT IA1E

Question Number : 46 Question Id : 92775911180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021-22, the Foreign Direct Investment (FDI) is increased in the insurance sector from 49% to
Options :

1. % 58%

2. % 90%

3. % 69%



4.9 74%

Question Number : 46 Question Id : 92775911180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021-22 & Folc P YU o TR Uaes fagRh o= otar &5 o 49% 4 % del fear g
Options :

1. * 58%

2. % 90%

3. % 69%

4.9 74%

Question Number : 47 Question Id : 92775911181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of Capital Gains Tax?
Options :

1. # Sales Tax

2. ¥ Property Tax

3. % Value Added Tax

4. # Custom Duty

Question Number : 47 Question Id : 92775911181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 9 S 91 USiTd arH &R (e T9 o) BT 3aT8 0l /7
Options :

1. % foet R

2. ¢ Ui R

3. % Tog afdid ax

4. % HO1-Y[eh




Question Number : 48 Question Id : 92775911182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021-22, Agriculture Infrastructure And Development Cess (AIDC) has been newly imposed on petrol at
per litre.

Options :
1.¥ Rs25
2. % Rs 3.5
3. % Rs3
4. % Rs 4

Question Number : 48 Question Id : 92775911182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021-22 & SO &1 VUM & IR, Tfd Tiex TR USid IR 741 HiY fawiRaHl Ud [qe S IR TR T 5 |
Options :

1. % 2.5%0U¢

2. % 35%4U

3. % 3%4Ul

4, % 45Ul

Question Number : 49 Question Id : 92775911183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The time rate of change of displacement of a body is called
Options :

1. #* acceleration

2. ¥ velocity

3. % force

4. * friction



Question Number : 49 Question Id : 92775911183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt T & faRITTs & 9 &Y &R ! ESISIG]
Options :

1. % 0]

2. T

3. % dd

4. % guOT

Question Number : 50 Question Id : 92775911184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pH of a neutral solution is equal to
Options :

1. % 4

2. %5

3.% 6

4.7

Question Number : 50 Question Id : 92775911184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Je] O &1 pH & IR g
Options :

1. % 4

2.% 5

3.% 6

4.7

Question Number : 51 Question Id : 92775911185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Starfish belongs to which of the following phylums?
Options :

1. # Porifera

2. % Annelida

3. ¥ Echinodermata

4. % Arthropoda

Question Number : 51 Question Id : 92775911185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR fafaRed 7 4 g Jg 4 Heifdd g2
Options :

1. % Rt

2. % TAferST

3. ¢ AIH

4. % GRAUG

Question Number : 52 Question Id : 92775911186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the law of Thermodynamics, heat given to a substance is equal to sum of change in internal energy and work done.
Options :

1. % Zeroth

2. % First

3. #¥ Second

4. # Third

Question Number : 52 Question Id : 92775911186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % JY
2.¥ UYH
3. % qUXI
4. % R

Question Number : 53 Question Id : 92775911187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are seed bearing, flowering vascular plants in which seeds are enclosed in fruits.
Options :
1. ¥ Angiosperms
2. # Pteridophytes
3. # Gymnosperms

4. ¥ Bryophytes

Question Number : 53 Question Id : 92775911187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SieT 98 PR, BacR Jdg- urey § o e hal A Yau gl g |

Options :

1. ¢ STgddiloit

2. % CREIWBIZa
3. % Mgl
4. * STGIZE

Question Number : 54 Question Id : 92775911188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following lakes is the largest inland salt lake in India?
Options :



1. ¥ Sambhar
2. % Kolleru
3. % Pushkar
4. % Pulicat

Question Number : 54 Question Id : 92775911188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & § o O 3fid WRd 3t T2 Tt 3iaceiig @Rt 3fie 82
Options :

1. ¢ gRR

2. % Dleie

3. % Jth

4. % gfetpe

Question Number : 55 Question Id : 92775911189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following mountain ranges is famous for tourist spots like Amarkantak and Omkareshwar temples?
Options :

1. # Eastern Ghats

2. % Satpura and Vindhyachal Range

3. % Western Ghats

4. % Karakoram and Pir Panjal Range

Question Number : 55 Question Id : 92775911189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 I uddaTe 3G ed 3R bR HieR) o yder wal & o uRng 82

Options :

1. % gdfdre




2.  FdYST 3R fq=ATee gaaHTen
3. % giyHl g1
4. % HRIPRA MR TR U GTHT

Question Number : 56 Question Id : 92775911190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a tributary of Chambal river?
Options :

1. # Shipra

2. % Parbati

3. ¥ Banas

4. ¥ Tawa

Question Number : 56 Question Id : 92775911190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & @ o O 9ad T 3 9 e T8l 82
Options :

1. % farm

2. % URe!

3. % 9™

4, ¢ ddl

Question Number : 57 Question Id : 92775911191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dhupgarh Peak is the highest peak of which of the following mountain ranges?
Options :

1. # Eastern Ghats

2. % Satpura Range



3. ¥ Western Ghats
4. # Pir Panjal Range

Question Number : 57 Question Id : 92775911191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4. % UR UolTdd udaquTal

Question Number : 58 Question Id : 92775911192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Battle of Kanauj fought in 15407
Options :

1. ¥ Humayun

2. ¥ Sher Shah

3. % Rana Sanga

4, ¥ Hemu

Question Number : 58 Question Id : 92775911192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 fra 7 1540 T TS T HAS & g B il U1
Options :

1. % gAY

2. ¥ I I@

3. % UM QAT




4. % gg

Question Number : 59 Question Id : 92775911193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the founder of Khilji Dynasty?
Options :

1. ¥ Ghazi Malik

2. # Malik Kafur

3. % Allauddin Khalji

4. ¥ Jalaluddin Khilji

Question Number : 59 Question Id : 92775911193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9 319 Racol Iedw &1 SRIbes Y1
Options :

1. % il Aice

2. ® Hfefh BIHR

3. % I[AT3E T Racrolt

4. ¢ AR A facri

Question Number : 60 Question Id : 92775911194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals was known as 'the Father of Modern Western Education in India'?
Options :

1. # Lord Warren Hastings

2. # Lord Cornwallis

3. % Lord William Bentinck

4. % Lord Wellesley



Question Number : 60 Question Id : 92775911194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied TamR S Ral d 9 fordt 'WRd o sneyf+es afget fR1en &1 S &gl Sirar am

Options :

1. ® 918 I g™
2. % QIS PIarey

3. ¢ dre faferay ofew
4. % @S qawd!

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

General Awareness2

4
927759458
0

0

No

No

0

20

No

General Awareness2

927759484
1

Online
Mandatory
20

20

20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 927759575
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775911195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian National Congress was split into the two groups i.e. the extremists & the moderates at the Surat session in
Options :

1. ¥ 1907

2. % 1895

3. % 1906

4. % 1901

Question Number : 61 Question Id : 92775911195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TP BT B o QR T | &1 ! A1 TRA & 3R RHE g | fawierd fosam mam
Options :

1. ¥ 1907

2. % 1895

3. % 1906

4. % 1901

Question Number : 62 Question Id : 92775911196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dharma Sabha was formed in by Raja Radhakanta Deb.
Options :

1. ®* Chennai

2. % Surat



3. ¥ Bombay
4. % Calcutta

Question Number : 62 Question Id : 92775911196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI TR Sd GRT T g U1 b1 734 fobam T AT |
Options :

1. % 9%

2. % qd
3, % g
4. ¢ HAB

Question Number : 63 Question Id : 92775911197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Lucknow Pact signed between Indian National Congress and All India Muslim League?
Options :

1. ® 1910

2. ¥ 1916

3. % 1924

4, % 1922

Question Number : 63 Question Id : 92775911197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRGTT AP B SR Sied R G o1 & st dess SHaiidl IR Hd gXiER fbu e A
Options :

1. % 1910

2.9 1916

3. % 1924



4, % 1922

Question Number : 64 Question Id : 92775911198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Union Education Minister Ramesh Pokhriyal Nishank in April 2021 presented the AICTE Leelavati Awards, 2020 in
Options :

1. ¥ New Delhi

2. % Mumbai

3. % Bengaluru

4. # Chennai

Question Number : 64 Question Id : 92775911198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e R wEt hw grafvara =i 3 eiid 2021 H T AICTE WiaTadl QRIPR, 2020 T faba|
Options :

1. ¢ 5 faedt

2. % e

3. % SR

4. % IFS

Question Number : 65 Question Id : 92775911199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the Director-General of the World Trade Organisation (WTO) as appointed on 1st March 2021?
Options :

1. % Daren Tang

2. % Audrey Azoulay

3. ¥ Ngozi Okonjo-Iweala

4. # Roberto Azevedo



Question Number : 65 Question Id : 92775911199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed & J &1 1 919 2021 HI 73y TR A6 & Fgad fory T Tg1Heere 82
Options :

1. % AT

2. % 3iTg; 3foilcd

3. ¥ TGl SiiepIsl Sfagar

4. % < Todal

Question Number : 66 Question Id : 92775911200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the "Best Actor In A Supporting Role (Male)" award in the Filmfare Awards 2021?
Options :

1. # Kumud Mishra

2. ® Gajraj Rao

3. # Pankaj Tripathi

4. ¥ Saif Ali Khan

Question Number : 66 Question Id : 92775911200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o ¥ forem TFeathR TR 2021 § "9gr® it I 9§ T (GRY)" RIGR S
Options :

1. % Hyc oy

2. % TSRISIRIG

3. % TUobyl fAUTA!

4. A 3fcht @




Question Number : 67 Question Id : 92775911201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following won Grammy Awards 2021 for the "Record of the Year" category?
Options :

1. # Don't Start Now

2. ¥ Everything I Wanted

3. ¥ Rockstar

4. % Colors

Question Number : 67 Question Id : 92775911201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 foam "Re1S ofth g IR 9ot & forg It DR 2021 S
Options :

1. % Sl WA

2. ¢ TERIRAT 3115 aics

3. % JHER

4. % Ho™

Question Number : 68 Question Id : 92775911202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Niti Aayog launched the India Energy Dashboards Version in April 2021. It will provide single window access to the data related to
utilisation, pricing, production, distribution of energy in the country.

Options :
1.¥20
2.% 1.0
3.% 3.0
4. % 4.0

Question Number : 68 Question Id : 92775911202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST A 3 2021 B AT TS SRS aod QA a1 I8 <=1 8 Sl o SUANT, Ged (R, IcreH, faavor ¥ defid Ser
d Tohdl fdS! Ugd Ua S|

Options :

1.4 2.0

2. % 1.0

3. % 3.0

4. % 4.0

Question Number : 69 Question Id : 92775911203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
in April 2021 announced that it will acquire Cleartrip, a leading online travel and technology company.
Options :
1. * Alibaba
2. % Reliance
3. % Flipkart

4. % Amazon

Question Number : 69 Question Id : 92775911203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2021 H = OO B foh U8 T U TS aE SR Wit So-t, faarfcy &1 siitmgo sah|
Options :

1. % 3fcitaral

2. # g

3. ¢ fhauaIc

4. % QAN

Question Number : 70 Question Id : 92775911204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
in April 2021 launched “Mission Aahaar Kranti”.

Options :

1. #¥ Nirmala Sitharaman
2. ¥ Harsh Vardhan

3. # Piyush Goyal

4. ® Ravi Shankar Prasad

Question Number : 70 Question Id : 92775911204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 2021 H J AR SMER wifdr &1 YHURY fHa|
Options :

1. ® fariar Sarm

2. ¢ g¥adq

3. % Uy Mgd

4. % 3d [P UG

Question Number : 71 Question Id : 92775911205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Raisina Dialogue, an annual Geo-political event, was in April 2021 organised by the and Observer Research
Foundation.

Options :

1. ¥ Ministry of Commerce and Industry
2. % Ministry of Finance

3. # Ministry of Corporate Affairs

4. ¥ Ministry of External Affairs

Question Number : 71 Question Id : 92775911205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



R HaTe, aifies Yo SaeH, 3id 2021 | 3R 3iissror Rd BISSRM GRT AT fovam T T
Options :

1. % IOy Td YT HATaT

2. % fod I

3. % HRURE ST HATTT

4. ¢ fqe= HATY

Question Number : 72 Question Id : 92775911206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Agricultural Ministry of India in April 2021 signed Memorandum of Understanding with to implement a pilot project for
farmer welfare.

Options :

1. ¥ Microsoft
2. # Facebook
3. ¥ Amazon
4. ¥ Google

Question Number : 72 Question Id : 92775911206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2021 H HRA & BN HATGT A fora Hedrur 3 forg Uraifiies aRaie T o) ar & & foe & T JESAT 0 R
gEMER fhul
Options :

1. ¢ A3
2. % BhUgd
3. % THNIA
4. % AT

Question Number : 73 Question Id : 92775911207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A member of Lok Sabha should not be less than years of age.
Options :

1. % 20

2.9 25

3. % 30

4. % 35

Question Number : 73 Question Id : 92775911207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AlBIH b TG Bl 31 Y ¥ S el g1 AUl
Options :

1. * 20

2.9 25

3. % 30

4. % 35

Question Number : 74 Question Id : 92775911208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Constituent Assembly took almost to complete its historic task of drafting the Constitution for an Independent India.

Options :

1. ¥ 3 years
2. % 5 years
3. % 7 years

4. % 9 years

Question Number : 74 Question Id : 92775911208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I THT = Wl HRA & Qe & UReunr & 30+ UagTRies &1 &l OR1 H-A o forg arH fera |

Options :




.¢ 3Ty
2. % 534
3. % 799
4. % 9Ty

Question Number : 75 Question Id : 92775911209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bill that deals exclusively with money matters that are mentioned in Article in Constitution is called a Money Bill.
Options :

1. ¥ 110

2. % 58

3. % o6l

4. % 94

Question Number : 75 Question Id : 92775911209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fadues of Ay =0 § ¢ & Aval @ Geifdd g S b Ifaem & srqwe H I €, I 4 faduss seTwmar |
Options :

1. ¥ 110

2. % 58

3. % ol

4. % 94

Question Number : 76 Question Id : 92775911210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Articles of Indian Constitution deals with 'Impeachment of the President'?
Options :

1. *® Article 73



2. % Article 52
3. % Article 61
4. % Article 54

Question Number : 76 Question Id : 92775911210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tfaer & Rafaied ael & & o a1 1yufa & merfiri 3 gefid 32
Options :

1. % 3G 73

2. % 3IHG 52

3. ¢ TG 61

4. % 3¢ 54

Question Number : 77 Question Id : 92775911211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
created history on March 14, 2021 by becoming the first Indian fencer to qualify for the Olympics.

Options :

1. ¥ Bhavani Devi
2. ¥ Kavita Devi

3. # Karan Singh

4. # Gisho Nidhi

Question Number : 77 Question Id : 92775911211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

14 1, 2021 B 3t & T 3rgaT U B3 aTel Ugdl HRATT ek - Sfaerd 3|

Options :

1. ¢ YaH 3a)
2. % Higdraal



3. % HUl &g
4. % T e

Question Number : 78 Question Id : 92775911212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following tennis players won the Australian Open 2021?
Options :

1. * Andy Murray

2. # Rafael Nadal

3. ¥ Novak Djokovic

4. # Daniil Medvedev

Question Number : 78 Question Id : 92775911212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad efa faarfeal & 9 feam siieferars Siiud 2021 Star
Options :

1. % TSI

2. % JPIIA TSIl

R CICATICAICE!

4. % 3TA Agacd

Question Number : 79 Question Id : 92775911213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries will host 2022 Commonwealth Games?
Options :

1. # India

2. % United Kingdom

3. % South Africa



4. % New Zealand

Question Number : 79 Question Id : 92775911213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad # 3 1 91 &= 2022 ATHTST Well ST AT S
Options :

1. % HRd

2. ¢ gARCS fhiren

3. % &7 3rwpiepT

4. % SlIvs

Question Number : 80 Question Id : 92775911214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Srihari Nataraj created a national record while winning his second gold of the Uzbekistan Open Championship. He is associated with which of
the following games?

Options :

1. % Shooting
2. % Wrestling
3. % Gymnastics

4. ¥ Swimming

Question Number : 80 Question Id : 92775911214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR T 7 Ieafowd SN ARG BT SUT GERT W0 UG Siidd gu I8 Reble S| a8 FafaRad & 9 fbg ud 9 Is1 7
Options :

1. % e

2. % Pl

3. % e
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Question Number : 81 Question Id : 92775911215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the difference between the greatest 6 digit number and the smallest 6 digit number?



Options :

1. % 100000
2. % 899999
3. % 888889
4. % 999998

Question Number : 81 Question Id : 92775911215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETH 6 3D 1T WA 3R YAqH 6 b T T & §1d T 3R 82
Options :

1. ¥ 100000

2. % 899999

3. % 888889

4. % 999998

Question Number : 82 Question Id : 92775911216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM of two numbers is 36, 612. If their HCF is 4 and one of the numbers is 452, find the other number.
Options :

1. ¥ 244

2. % 374

3. % 208

4. ¥ 324

Question Number : 82 Question Id : 92775911216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =13t BT AYTH YHIUGA® 36, 612 § 1 TS It HeaH THIIAS TeT 4 § 3R TRearsft & § U TReam 452 ®, <Y GO} TRe 1 B |
Options :

1. % 244




2. % 374
3. % 208
4. % 324

Question Number : 83 Question Id : 92775911217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The five digit number 3214A is divisible by 3 where A is a single digit whole number. Find A.
Options :

1. * 1

2.9 2

3.% 4

4. %17

Question Number : 83 Question Id : 92775911217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTd 31T TAT 3214A 3 9 AU § OT8T A T i1 guf T 51 A I1d BR |
Options :

1. %1

2.9¥ 2

3.% 4

4. %17

Question Number : 84 Question Id : 92775911218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TThTad Tl J1d 63, FSFHT A 60 § SR TYTH JHITdS 40 7 |
Options :

1. % 30 3R 60
2. % 12 3[R 48




3.+ 20 3R 40

4. % 44 3R 16

Question Number : 84 Question Id : 92775911218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find two natural numbers whose sum is 60 and the least common multiple is 40.
Options :

1. % 30 and 60

2. % 12 and 48

3. ¥ 20 and 40

4. % 44 and 16

Question Number : 85 Question Id : 92775911219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The shopkeeper allows two successive discounts of 20% and 30% on a tape recorder and sells it at Rs. 3430. Find the market price of the tape
recorder.

Options :

1. % Rs. 5385
2. % Rs. 8295
3. ¥ Rs. 6125
4. % Rs. 7240

Question Number : 85 Question Id : 92775911219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gPHMER < RBIe WR 20% 3R 30% 1 &l HHD Fe adl § 3R 34 3430 ¥UT H §9dl & | U RHISX &1 oIk oo J1d Hr |
Options :

1. % 5385%UU

2. % 8295%UU
3.9 6125%UU




4. % 7240 °>UU

Question Number : 86 Question Id : 92775911220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 20 students in a class is 22 years. If two more students are added whose ages are 20 years and 24 years, find the new average
age.

Options :

1. #® 20 years

2. ¥ 22 years

3. #® 28 years

4. % 25 years

Question Number : 86 Question Id : 92775911220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP FHef T 20 BE B 3T 3G 22 a9 §1 TfS 3l 3R BT Bl ST o1t 8 DT 35 20 o 3R 24 T8 8, A 73 3™7a 3G 1 B |
Options :

1. % 2099

2.¢ 2294

3. % 284

4.% 259y

Question Number : 87 Question Id : 92775911221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radhika buys a mobile phone at Rs. 7000. She sells it at a discount of 16%, thereby earning a profit of 5%. What is the marked price of the
mobile?

Options :

1. ¥ Rs. 8750
2. #® Rs. 7720
3. ¥ Rs. 6280



4. % Rs. 7840

Question Number : 87 Question Id : 92775911221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITYHT 7000 FUY H T HIGTSA BIF BRiad! & | T8 59 16% DI Fc W 9! §, FoRT S 5% BT A4 8T 8 | Hiasd ol Fifgd Jod a1 82
Options :

1. % 8750 ¥UU

2. % 7720%UU

3. % 6280%UU

4. % 7840 %4l

Question Number : 88 Question Id : 92775911222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election, there were only two candidates. One of the candidates secured 30% of votes and is defeated by the other candidate by 400 votes.
Find the total number of votes polled.

Options :
1. % 1050
2. % 1037
3. % 1240
4.+ 1000

Question Number : 88 Question Id : 92775911222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP gAd H, Had ol IHIGAR ¥ 378 J Th IHIEAR 7 30% Ad g fbT 3R AR IWHiGdR gRT 400 Tdl ¥ gRT1 faU 70 7l &t pat
AT T R |

Options :

1. % 1050

2. % 1037

3. % 1240




4. % 1000

Question Number : 89 Question Id : 92775911223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of an article is first decreased by 25 % and then increased by 20%. If the resulting price is Rs. 3600, the original price of the article is:
Options :

1. ¥ Rs. 4000

2. % Rs. 7200

3. ¥ Rs. 5800

4. # Rs. 5200

Question Number : 89 Question Id : 92775911223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I BT T U 25% T HH o1 o1 g MR R 20% T ST Sf1dt § | fe IiRumet He 3600 TUT &, 1 9 &1 Jd Jed &
Options :

1. ¥ 4000 U

2. % 7200 %0

3. % 5800 U

4, % 5200%UU

Question Number : 90 Question Id : 92775911224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class 50 % of the students pass in Hindi and 40 % pass in Sanskrit. If 60 % of them pass in at least one subject, what percentage of the
students failed in both the subjects .

Options :
1. % 80%
2. % 40%
3. % 90%
4. % 20%



Question Number : 90 Question Id : 92775911224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HeT T 50% BT el T 3R 40% TXPpd & 301 Bld & | S I8 ¥ 60% HH I HH U 957 T S0l g1 &, dl a1 fawdl | fava ufa=ra
EIEACLaEY

Options :

1. ® 80%

2.9 40%

3. %* 90%

4. % 20%

Question Number : 91 Question Id : 92775911225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A’s salary is 30% of B’s salary and B’s salary is 50% of C’s salary. What percent of C’s salary is A’s salary?
Options :

1. % 12%

2. % 17%

3. % 14%

4. ¥ 15%

Question Number : 91 Question Id : 92775911225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT A B P 9 BT30% § AR B BT dqT C & a9 BT 50% & | C & da BT a1 UTI=Id A BT I &2
Options :

1. % 12%

2. % 17%

3. % 14%

4. ¥ 15%



Question Number : 92 Question Id : 92775911226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seller buys pens at 2 for Rs. 8 and sells them at 5 for Rs. 30. His profit percent is:
Options :

1. ¥ 50%

2. % 40%

3. % 35%

4. % 60%

Question Number : 92 Question Id : 92775911226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fashdl 8 IUT T 2 Bl X I HAH TRl § 3R 3 30 YT H 5 B &3 ¥ 99dl ¢ | SHHT A1 U= g
Options :

1. ¥ 50%

2. % 40%

3. % 35%

4. % 60%

Question Number : 93 Question Id : 92775911227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Y purchased a flat for Rs. 8.25 lakhs and spent Rs. 15,000 for its renovation. If he sold the flat for Rs. 9,24,000, then find his profit percent.
Options :

1. # 40%

2.¥ 10%

3. % 15%

4. % 20%

Question Number : 93 Question Id : 92775911227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

oft v 7 8.25 TR TUYT H Teh TIC WG] 3R YD TdIh0T & T 15,000 FUT T [T TfE I Ui Bl 9,24,000 FUT & o=, 4l I
Y Tfc=Id I B

Options :
1. # 40%
2.9 10%
3. % 15%
4. % 20%

Question Number : 94 Question Id : 92775911228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling 144 eggs, Ram suffered a loss equal to the cost price of 10 eggs. His loss percent is (approximately):
Options :

1. #® 6%

2.% 5%

3.9 7%

4. % 8%

Question Number : 94 Question Id : 92775911228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

144 313 I I, A BT 10 38! B! oI & RIS THAM IoMT UST| ITHT IHAM UIIRIT (TTHT) 6:
Options :

1. % 6%

2. % 5%

3.9 7%

4. % 8%

Question Number : 95 Question Id : 92775911229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What number must be added to both numerator and denominator 5/39 so that it may become 7/41?
Options :

1.9 2

2.%6

3.% 4

4. % 1

Question Number : 95 Question Id : 92775911229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5/39 % 3 AR B I | fohd T= 1 ST o711 <1RT aTfs I 7/41 B STE?
Options :

1.2

2.% 6

3.% 4

4. % 1

Question Number : 96 Question Id : 92775911230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If x varies as y, and y = 2 when x = 6, find x when y=12.
Options :

1. % 6

2. % 24

3. % 38

4. % 36

Question Number : 96 Question Id : 92775911230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zlﬁxy%@ﬁﬁ?ﬂ%,@Ty=2@3x=6@ﬁ%jﬁx$ﬂﬁﬁﬂﬁy= IZ%I

Options :



1.* 6
2. %24
3. % 38
4.9 36

Question Number : 97 Question Id : 92775911231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a mixture of 80 litres of a solution, the ratio of milk and water is 2:3. How much water must be added to this mixture, so that the ratio of milk
and water becomes 1:2?

Options :

1. # 12 litres
2. # 10 litres
3. % 15 litres
4. ¥ 16 litres

Question Number : 97 Question Id : 92775911231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teb ©liel o 80 Tiiex & THS0T H, Gol SR UTHT b1 ST 2:3 B 1 39 807 H febef=11 Tt f¥efra ST =i, difeh ol SR Ureil o7 3urd 1:2 81
STe?

Options :

1. % 12TR

2. % 10 Wi

3. % [5dIeR

4. ¥ 16 Wi

Question Number : 98 Question Id : 92775911232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If three numbers are in the ratio of 1:5:7 and half of their the sum is 13, then the ratio of cubes of the numbers is

Options :



1. % 1:267: 1275
2. % 1:1000: 3433
3.9 1:125:343
4. % 1:27:125

Question Number : 98 Question Id : 92775911232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fF TRATY 1: 5: 7 % U B g 3R I TNT BT ATT 13 ©, Tl TSATS & T BT SUTd gl
Options :

1. * 1:267: 1275

2. % 1:1000: 3433

3.9 1:125: 343

4, % 1:27:125

Question Number : 99 Question Id : 92775911233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 1200 is lent out at 10 % per annum simple interest for 3 years. Find the amount after 3 years.
Options :

1. % Rs. 1670

2. % Rs. 1660

3. % Rs. 1500

4. ¥ Rs. 1560

Question Number : 99 Question Id : 92775911233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1200 TUT B MR BT 3 99 B 1T 10% Ui I TR0 1 W fear mar g1 3 a9 & «re I J1d B |

Options :
1. #® 1670 34U



2. % 1660 ¥UU
3. % 1500 %4l
4. % 1560 ¥UU

Question Number : 100 Question Id : 92775911234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the rate of interest if the amount after 2 years of simple interest on a capital of Rs. 1420 is Rs. 1660.
Options :

1. * 15%

2. ¥ 8.45%

3. % 25%

4. % 5%

Question Number : 100 Question Id : 92775911234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS & J1d B TG 1420 ¥UT BT Yoil TR 2 T & WIYRU TS & 916 A1 1660 ¥UT &1 A & |

Options :
1. # 15%
2.9 8.45%
3. % 25%
4. % 5%
Arithmetic Ability2
Group Number : 6
Group Id : 927759460
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 927759486
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759577
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775911235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the compound interest earned on Rs. 75,000 for 1 year at the rate of 10% per annum.
Options :

1. * Rs. 7000

2. % Rs. 7546

3. * Rs. 7400

4. ¥ Rs. 7500

Question Number : 101 Question Id : 92775911235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



10% Ufd a9 &1 G ¥ 1 99 o e 75,000 UL WR SHfSid Fehgf TS 1 HR |
Options :

1. % 7000 ¥UT

2. % 7546 ¥UQ

3. % 7400 ¥UT

4.+ 7500 ¥UT

Question Number : 102 Question Id : 92775911236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simple interest obtained on a sum of Rs. 4000 for 2 years is Rs. 800. Find the rate of interest.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.5%

2.3%

3.1%

4. 7%

Question Number : 102 Question Id : 92775911236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 a9 & AT 4000 TTT BT AT TR UTT ATERUT TS 800 FUT & | ST & 1] b |

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 5%

2.3%

3.1%




4. 7%

Question Number : 103 Question Id : 92775911237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a boat upstream is 25 kmph and the speed in still water is 30 kmph. Find out the time taken to travel 70 km downstream.
Options :

1. % 3 hours

2. % 4 hours

3. % 5 hours

4. % 2 hours

Question Number : 103 Question Id : 92775911237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

919 Pt 7T FHEIATE 25 kmph § 3R RR I+ & 71 30 kmph 81 70 km 3FYATE WM & o T aTell 99T 1d $1 |
Options :

1. % 39¢

2. % 44¢

3. % 59¢

4.4 24

Question Number : 104 Question Id : 92775911238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a girl running at a speed of 25 kmph crosses a bridge in 18 min, the length of the bridge is:
Options :

1. % 7.8 km

2.9 7.5km

3. % 7.2 km

4, % 6.2 km



Question Number : 104 Question Id : 92775911238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 25 kmph B1 TV 1S G ASH! 18 e & U Jd 1 UR HRcll €, A Id B! @dlls o
Options :

1. # 7.8 km

2.% 7.5km

3. % 7.2 km

4, % 6.2 km

Question Number : 105 Question Id : 92775911239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains of length 210 m and 180 m long, runs at the speed of 50 km/h and 40 km/h respectively, in opposite directions on parallel tracks. Find
the time which they take to cross each other.

Options :

1. ¥ 15.6 seconds
2. % 14.82 seconds
3. # 17 seconds

4. #® 3.96 seconds

Question Number : 105 Question Id : 92775911239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

210 m 3R 180 m WSS aTelt gl YAMISAT, FHMIAGR TeRal W faudid fezmaft & HH=r: 50 km/h 31 40 km/h B 717§ Telcl €1 T gIR BI
UR 3 o feTq =11 a1l T8y J1d R |

Options :

1. ¥ 15.6 9hg



Question Number : 106 Question Id : 92775911240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can do a piece of work in 60 days and A alone can do it in 75 days. In how many days approximately can B do it alone?
Options :

1. ¥ 300 days

2. # 305 days

3. ¥ 303 days

4. # 304 days

Question Number : 106 Question Id : 92775911240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B 60 & H T B0 R Tavdl § SR A 3l 38 75 el T R bl § | B ATHT 31obat faba fel o = Havdll &7
Options :

1.+ 300 &

2. % 305 faA

3. % 3033

4. % 304 e

Question Number : 107 Question Id : 92775911241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nisha can do 40% of a piece of work in 20 days. How many days will he take to complete the work ten times?
Options :

1. #* 400 days

2. % 300 days

3. % 200 days

4. ¥ 500 days

Question Number : 107 Question Id : 92775911241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

=1 20 &A1 7 40% T TR AHhcll 81 B BT o IR I d3A H 39 fhaq a7 T
Options :

1. % 400 f&

2. % 300 fgA

3. % 200 f&A

4.+ 500 feA

Question Number : 108 Question Id : 92775911242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manoj takes thrice as much time as Ajay and four times as much as Vijay to finish a piece of work. Together they finish the work in 17 days.
What is the time taken by Manoj to finish the work?

Options :

1. # 190 days
2. # 140 days
3. # 182 days
4. ¥ 136 days

Question Number : 108 Question Id : 92775911242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T-1S] Ueh T 1 QRT3 H Sio1g Fore =1 ot 11 T SiR faorg foram1 o A1 90g A1 8| T 14 d S &1 17 fel § R avd g | i
TH B & AU T gRT foa1 wr foran ram 2

Options :

1. % 190 fam
2. % 140 faT
3. % 182 A
4.+ 136 faA

Question Number : 109 Question Id : 92775911243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raju is thrice as good as Vijay. Together, they finish the work in 15 days. In how many days can Vijay alone do the same work?
Options :

1. ¥ 60 days

2. ® 25 days

3. ¥ 40 days

4. % 30 days

Question Number : 109 Question Id : 92775911243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

375 fasra fora=1 i 7T 31T 8 1 g faeR 15 3 o i 1 o ] | fasig srahat faram foml & 9t v ok Il 82
Options :

1. ¢ 60 faa

2. % 25feq

3. % 40feq

4. % 30fe

Question Number : 110 Question Id : 92775911244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many tiles, each of area 4 sq m, will be required to cover the floor of a room 24 m long and 18 m broad?
Options :

1. # 120

2. %108

3. % 132

4, % 128

Question Number : 110 Question Id : 92775911244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



24 m TS 3R 18 m TS H& P B DI HAR B b [T, TP 4 sq m &FTHA B [bd-] <TSd B ATTLIHAT N2
Options :
1. % 120
2.¢ 108
3. % 132
4. % 128

Question Number : 111 Question Id : 92775911245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a cone is doubled, its volume becomes:
Options :

1. # 5 times

2. % 9 times

3. ¥ 4 times

4. % 12 times

Question Number : 111 Question Id : 92775911245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Xigp 1 IS DI GRIAT B [T ST &, df 39T ST Bidl
Options :

1. % ST

2. % 97l

3.9 47l

4. % 1270

Question Number : 112 Question Id : 92775911246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two cubes have their volumes in the ratio 1331 : 1000. The ratio of their surface areas is:



Options :

1. % 21:100
2. % 144 : 121
3.%11:10
4.9 121:100

Question Number : 112 Question Id : 92775911246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Y BT 3T 1331 : 1000 & TS | § | 370 U &5 HI 31U &:
Options :

1. % 21:100

2. % 144 : 121

3.% 11:10

4.4 121:100

Question Number : 113 Question Id : 92775911247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cylinder of radius 3 cm and height 4 cm is melted and re-casted into a sphere. Find the diameter of the sphere formed.
Options :

1. ® 8cm

2. % 5cm

3. % 4cm

4, % 6 cm

Question Number : 113 Question Id : 92775911247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
34T 3 cm 3R ST 4 cm T T 31 9T 00T T 3 SR Mdl | R ¥ ST 131 8 | 9 T 7iet T 479 J1d R |
Options :

1. # 8cm



2. % 5¢cm
3. % 4cm
4. ¥ 6 cm

Question Number : 114 Question Id : 92775911248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows monthly expenditure of Suresh on various items. If he has to pay Rs. 60000 as rent, then calculate the amount spent on
entertainment.

Percentage expenditures

Miscellaneous,

Options :

1. ¥ Rs.50000
2. ¥ Rs.40000
3. % Rs.20000



4. ® Rs.35000

Question Number : 114 Question Id : 92775911248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaéﬁfwaﬁeﬁWW$mﬁ$maﬁm%l g 3 faTE & TG H 60000 FUT S §, T TR OR T 1 T8 AT &1 UM
|

yfd=a o
fafey, s

Options :

1. # 50000 U4
2. ¥ 40000 ¥UQ
3. % 20000 ®UT
4. % 35000 U4



Question Number : 115 Question Id : 92775911249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table shows expenditure and income of a firm in various months (in Rs). In which month was ratio of savings to income maximum.

Meonth Salary Expenditure
January 60,000 40,000
February 50,000 30,000

March 45,000 20,000

April 30,000 10,000
May 55,000 40,000
Options :
1. # January
2. % April
3. # May

4. % February

Question Number : 115 Question Id : 92775911249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dTferesT faftrs TgT & BH & o0 SR 311 &I gl & (399 W) | T T8 § sad & fTe S 7 SuTd Sifidad |

T & G|
CELE 60,000 40,000
HYast 50,000 30,000
o 45,000 20,000
T jerc 30,000 10,000
3 55,000 40,000

Options :



1. % S}
2. ¢ U
3. % T3

4. % R

Question Number : 116 Question Id : 92775911250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sale of different commodities in a shop in various years is given. In which year the sale of Refrigerator and Washing machine together
exceeded the number of TV's sold by 120 ?

Year TV Washing Refrigerator AC
machine

1956 320 160 280 1500
1957 350 270 140 1700
1958 315 140 310 1800
1959 400 200 230 2000

Options :

1. ¥ 1996

2. % 1998

3. % 1999

4. % 1997

Question Number : 116 Question Id : 92775911250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faftr auf & ue g o faft aegafl &) fas < i 31 v o o vfifest ik yans w=i ot farest, At 1 faept | 120 3w g2 82



Td <t YelTS wRi= PRAIGE] CIGIRE gkl
1996 320 160 280 1500
19497 350 270 140 1700
1998 315 140 310 1800
1999 400 200 230 2000

Options :

1. ¥ 1996

2. % 1998

3. % 1999

4. % 1997

Question Number : 117 Question Id : 92775911251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average export of Rice by India in five consecutive years is given. Calculate the percentage increase in export from 2014 to 2015.

400 -
342 350
__ 350 A
= 094 256
& 250 - 220
t
@ 200 - 180
=
ﬂl 15{} -
]
o
9 100 A
4
[EH] Eﬂ -
0
2011 2012 2013 2014 2015
Year

Options :



1. ® 58.6%
2. ¥ 59.09%
3. % 52.08%
4. % 69.09%

Question Number : 117 Question Id : 92775911251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR gRT TR Urd I8 § =rad o1 3 fafa fear man g1 2014 ¥ 2015 ae fAafa & ufawa afg &t T &38|

400 -
350

350
I T
= 250 - 220
E 200 - 180
150 -
100 -
50 -
0

2011 2012 2013 2014 2015

342

Options :

1. # 58.6%
2. ¥ 59.09%
3. % 52.08%
4. % 69.09%

Question Number : 118 Question Id : 92775911252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The number of doctors and teachers in different states is given (in lakhs). Find the ratio of the number of doctors in Bengal to the number of
teachers in Odisha.

# Number of Teachers ( In lakhs) # Number of Doctors [ In lakhs)

Delhi 45

51

Odisha -

State

42

B |
enga e

o 10 20 30 40 50 E0

Number of Doctors and Teachers (in lakhs)

Options :

1. % 15:14
2. % 13:16
3. % 16:15
4. ¥ 15:16

Question Number : 118 Question Id : 92775911252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁfuﬁﬂaﬁ;ﬁrﬁmﬁﬁ?ﬁr&lﬁﬁmm@ﬁjﬁﬂé% e § Ffraae! ot Te ot o § snfeen & fRiere! &t T &
STFUId JTd PR
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Options :

1. % 15:14
2. % 13:16
3. % 16:15
4. ¥ 15:16

Question Number : 119 Question Id : 92775911253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of three cities is given as follows. The population of males in each city is also given in terms of percentage. Find the ratio of
females in city B to the number of males in city A.



. Male
- Popubition | s e
J ( In crores) percentage)
= 25 a0
- 42 =0
c 32 e
Options :
1. = 4.7
2. % 3.5
3.¥ 7.5
4. % 3.7

Question Number : 119 Question Id : 92775911253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T <16t 1 SFRe FEER & 7T €1 T Xex B Yol ot siet it ufawrd & deaf o & S B 1 weR A B qw! Bt T &t gan o

EX B H Afarat &7 SUrd I1d B |
ERELC:) g?ﬂ‘_fa%
e [W fl’] m_
- CIGEGE:))
A 25 60
42 50
C 32 35
Options :
1. % 4.7
2. % 3:5
3.% 7:5

4. % 3.7




Question Number : 120 Question Id : 92775911254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average sale (in Rs) of a shopkeeper for 4 different days of the week is given. What is the average sale for these 4 days (in Rs)?

450 -
400
400
350
350 320
o 300 280
o
© 250 -
LT
200 -
S
o 150 -
100
50 -~
0
Monday Tuesday Wednesday Thursday
Day
Options :
1. % 320
2. % 3375
3. % 400
4. % 350

Question Number : 120 Question Id : 92775911254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 4 faftet fa=f & 1w Uep gpmieR o1 3id fass) (308 H) © 718 81 39 4 o1 (308 #) & forw i st g2



450 e
400 -
350 320
300
E 250
200
150 +
100 -
50
1]
HHaR HTearN YA TEdN
Options :
1. % 320
2.9¥3375
3. % 400
4. * 350
General English1
Group Number : 7
Group Id : 927759461
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

General English1
Section Id : 927759487
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759578
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 92775911255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It might be supposedly/ that conjugal fidelity must/ suffer from such a custom.
Options :

1. ¥ It might be supposedly

2. # that conjugal fidelity must

3. * suffer from such a custom.

4. % No Error

Question Number : 121 Question Id : 92775911255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

It might be supposedly/ that conjugal fidelity must/ suffer from such a custom.
Options :

1. ¥ It might be supposedly

2. # that conjugal fidelity must

3. # suffer from such a custom.

4. # No Error

Question Number : 122 Question Id : 92775911256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Jason said that, "We have/ to stay together if we wish to/ make it out of here alive".
Options :

1. % Jason said that, "We have

2. % to stay together if we wish to

3. # make it out of here alive".

4. %* No Error

Question Number : 122 Question Id : 92775911256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Jason said that, "We have/ to stay together if we wish to/ make it out of here alive".
Options :

1. % Jason said that, "We have

2. # to stay together if we wish to

3. * make it out of here alive".

4. ¥ No Error



Question Number : 123 Question Id : 92775911257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

A month ago she would have said she/ might never marry, and yet it had crossed/ her mind a number of times when she met Bordeaux.
Options :

1. % A month ago she would have said she

2. % might never marry, and yet it had crossed

3. ¥ her mind a number of times when she met Bordeaux.

4. % No Error

Question Number : 123 Question Id : 92775911257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

A month ago she would have said she/ might never marry, and yet it had crossed/ her mind a number of times when she met Bordeaux.
Options :

1. # A month ago she would have said she

2. ®* might never marry, and yet it had crossed

3. ¥ her mind a number of times when she met Bordeaux.

4. % No Error

Question Number : 124 Question Id : 92775911258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Her mother educated her in strict seclusion,/ but seclusion altogether failed to tame/ her imperious and ambitious temper.



Options :

1. # Her mother educated her in strict seclusion,
2. % but seclusion altogether failed to tame

3. % her imperious and ambitious temper.

4. ¥ No Error

Question Number : 124 Question Id : 92775911258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Her mother educated her in strict seclusion,/ but seclusion altogether failed to tame/ her imperious and ambitious temper.
Options :

1. % Her mother educated her in strict seclusion,

2. # but seclusion altogether failed to tame

3. # her imperious and ambitious temper.

4. % No Error

Question Number : 125 Question Id : 92775911259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

While granite is very strong, you may risk scratching/ the material if you use abrasened cleaning products or/ materials, such as scouring pads
with metal components.

Options :

1. ¥ While granite is very strong, you may risk scratching

2. % the material if you use abrasened cleaning products or

3. # materials, such as scouring pads with metal components.
4. ® No Error



Question Number : 125 Question Id : 92775911259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

While granite is very strong, you may risk scratching/ the material if you use abrasened cleaning products or/ materials, such as scouring pads
with metal components.

Options :

1. * While granite is very strong, you may risk scratching

2. ¥ the material if you use abrasened cleaning products or

3. ¥ materials, such as scouring pads with metal components.
4. % No Error

Question Number : 126 Question Id : 92775911260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(It was either a case of blatant ignorance not genuine mishap), the courts just couldn’t decide which.
Options :

1. ¥ It was either a case of blatant ignorance or genuine mishap

2. # It was neither a case of blatant ignorance nor genuine mishap

3. % It was either a case of blatant ignorance nor genuine mishap

4. # No corrections required

Question Number : 126 Question Id : 92775911260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(It was either a case of blatant ignorance not genuine mishap), the courts just couldn’t decide which.



Options :

1. ¥ It was either a case of blatant ignorance or genuine mishap

2. % It was neither a case of blatant ignorance nor genuine mishap
3. % It was either a case of blatant ignorance nor genuine mishap
4. ® No corrections required

Question Number : 127 Question Id : 92775911261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

How could the ground be so parched (when the air was so waterlogged?)
Options :

1. # since the air was so waterlogged?

2. % when the air is so waterlogged

3. # over the air so waterlogged?

4. % No corrections required

Question Number : 127 Question Id : 92775911261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

How could the ground be so parched (when the air was so waterlogged?)
Options :

1. # since the air was so waterlogged?

2. # when the air is so waterlogged

3. # over the air so waterlogged?

4. ¥ No corrections required

Question Number : 128 Question Id : 92775911262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Efforts by the Great Britain and the United States to alleviate) the distress were opposed by the authorities, but met with some success.
Options :

1. # Effort by the Great Britain and the United States to alleviate

2. ¥ Efforts by Great Britain and the United States to alleviate

3. % Efforts by Great Britain and United States to alleviate

4. # No corrections required

Question Number : 128 Question Id : 92775911262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Efforts by the Great Britain and the United States to alleviate) the distress were opposed by the authorities, but met with some success.
Options :

1. # Effort by the Great Britain and the United States to alleviate

2. % Efforts by Great Britain and the United States to alleviate

3. % Efforts by Great Britain and United States to alleviate

4. % No corrections required

Question Number : 129 Question Id : 92775911263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It is true that he made an ostensible offer on the franchise question, (but that proposal were made dependent on so many conditions) that it was a
palpable sham.

Options :



1. # but that proposal were made dependent on so much condition
2. % but that proposal was made dependent on so many conditions
3. # but that proposal was made dependent on so much condition

4. ® No corrections required

Question Number : 129 Question Id : 92775911263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It is true that he made an ostensible offer on the franchise question, (but that proposal were made dependent on so many conditions) that it was a
palpable sham.

Options :

1. # but that proposal were made dependent on so much condition
2. ¥ but that proposal was made dependent on so many conditions
3. # but that proposal was made dependent on so much condition

4. ® No corrections required

Question Number : 130 Question Id : 92775911264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

At the same time the mothers of the murdered men came to the Temple to demand

Options :

1. #® cadence

2. ¥ vengeance
3. # intermittence

4. ® penance

Question Number : 130 Question Id : 92775911264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

At the same time the mothers of the murdered men came to the Temple to demand

Options :

1. # cadence

2. ¥ vengeance
3. % intermittence

4. ¥ penance

Question Number : 131 Question Id : 92775911265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

There were differences between the parties regarding living wills.

Options :

1. # nestle
2. ¥ subtle
3. % hurtle
4. # belittle

Question Number : 131 Question Id : 92775911265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

There were differences between the parties regarding living wills.

Options :

1. # nestle
2. ¥ gsubtle
3. * hurtle
4. % belittle



Question Number : 132 Question Id : 92775911266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Kids learn at their own pace, so do not be in your expectations of their adapting skills.

Options :

1. ¥ overzealous
2. # jealous

3. % frivolous

4. % zealous

Question Number : 132 Question Id : 92775911266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Kids learn at their own pace, so do not be in your expectations of their adapting skills.

Options :

1. ¥ overzealous
2. # jealous

3. # frivolous

4. * zealous

Question Number : 133 Question Id : 92775911267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

There was nothing heroic about Cecil or his policy; it involved a attitude towards struggling Protestants abroad.

Options :

1. % marvellous



2. % querulous
3. ¢ callous

4. % tremulous

Question Number : 133 Question Id : 92775911267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

There was nothing heroic about Cecil or his policy; it involved a attitude towards struggling Protestants abroad.

Options :

1. # marvellous
2. # querulous
3. % callous

4. % tremulous

Question Number : 134 Question Id : 92775911268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Untraveled, naive, even a little , we are not surprised to discover the heart of a hero just waiting to be stirred to action.

Options :

1. # sallow
2. ¥ callow
3. # shallow

4. % mellow

Question Number : 134 Question Id : 92775911268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.



Untraveled, naive, even a little , we are not surprised to discover the heart of a hero just waiting to be stirred to action.

Options :

1. % sallow
2. ¥ callow
3. % shallow

4. % mellow

Question Number : 135 Question Id : 92775911269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

People are deluded by the glamor
P. which in reality

Q. of celebrities, thinking that

R. rom the mundane,

S. their lives are far away

1s not true.
Options :
1. ®* QSPR
2. ¥ QSRP
3. % QRSP
4. % QPRS

Question Number : 135 Question Id : 92775911269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



People are deluded by the glamor
P. which in reality

Q. of celebrities, thinking that

R. rom the mundane,

S. their lives are far away

is not true.
Options :
1. ¥ QSPR
2. ¥ QSRP
3. % QRSP
4. % QPRS

Question Number : 136 Question Id : 92775911270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The instability created in Europe by the First World War (1914-18) set the stage for another international conflict—World War II—which broke
out two decades later and would prove even more devastating.

P. Among the estimated 45-60 million people killed were 6 million Jews murdered in Nazi concentration camps as part of Hitler’s diabolical
“Final Solution,” now known as the Holocaust.

Q. Rising to power in an economically and politically unstable Germany, Adolf Hitler, leader of the Nazi Party, rearmed the nation and signed
strategic treaties with Italy and Japan to further his ambitions of world domination.

R. Hitler’s invasion of Poland in September 1939 drove Great Britain and France to declare war on Germany, marking the beginning of World
War II.

S. Over the next six years, the conflict would take more lives and destroy more land and property around the globe than any previous war.



The 40,000,000-50,000,000 deaths incurred in World War II make it the bloodiest conflict, as well as the largest war, in history.
Options :

1. ¥ PQRS

2. # RSPQ

3. % SPQR

4. ¥ QRSP

Question Number : 136 Question Id : 92775911270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The instability created in Europe by the First World War (1914-18) set the stage for another international conflict—World War II—which broke
out two decades later and would prove even more devastating.

P. Among the estimated 45-60 million people killed were 6 million Jews murdered in Nazi concentration camps as part of Hitler’s diabolical
“Final Solution,” now known as the Holocaust.

Q. Rising to power in an economically and politically unstable Germany, Adolf Hitler, leader of the Nazi Party, rearmed the nation and signed
strategic treaties with Italy and Japan to further his ambitions of world domination.

R. Hitler’s invasion of Poland in September 1939 drove Great Britain and France to declare war on Germany, marking the beginning of World
War II.

S. Over the next six years, the conflict would take more lives and destroy more land and property around the globe than any previous war.

The 40,000,000-50,000,000 deaths incurred in World War II make it the bloodiest conflict, as well as the largest war, in history.
Options :

1. ¥ PQRS

2. # RSPQ

3. % SPQR

4. % QRSP

Question Number : 137 Question Id : 92775911271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Thus it became possible for
P. error to refer to

Q. almost any diligent reader
R. without much chance of
S. its proper place nearly

every bird he was likely to meet with.

Options :

1. ¥ QPSR
2. % QPRS
3. % QSPR
4. ¥ QRSP

Question Number : 137 Question Id : 92775911271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Thus it became possible for
P. error to refer to
Q. almost any diligent reader

R. without much chance of



S. its proper place nearly

every bird he was likely to meet with.

Options :

1. # QPSR
2. % QPRS
3. % QSPR
4. % QRSP

Question Number : 138 Question Id : 92775911272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Digression
Options :

1. # Accord
2. % Deviation
3. % Engage

4. % Conclusion

Question Number : 138 Question Id : 92775911272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Digression
Options :

1. # Accord
2. ¥ Deviation
3. % Engage

4. % Conclusion



Question Number : 139 Question Id : 92775911273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Emulate
Options :

1. * Compete
2. % Aspire

3. % Forego

4. % Reproduce

Question Number : 139 Question Id : 92775911273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Emulate
Options :

1. # Compete
2. * Aspire

3. ¥ Forego

4. *= Reproduce

Question Number : 140 Question Id : 92775911274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Nepotism
Options :

1. * Unanimous



2. % Crude
3. % Obstruct
4. ¥ Patronage

Question Number : 140 Question Id : 92775911274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Nepotism
Options :

1. * Unanimous
2. % Crude

3. # Obstruct
4. ¥ Patronage

General English2
Group Number : 8
Group Id : 927759462
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Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English2
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Section type : Online
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Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 927759579
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 92775911275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Vantage
Options :

1. # Detriment
2. ¥ Perspective
3. % Vital

4. % Collude

Question Number : 141 Question Id : 92775911275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Vantage
Options :

1. * Detriment
2. ¥ Perspective
3. # Vital

4. % Collude



Question Number : 142 Question Id : 92775911276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Destitute
Options :

1. ¥ Smother
2. ¥ Prosperous
3. % Genial

4. # Sacrilegious

Question Number : 142 Question Id : 92775911276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Destitute
Options :

1. # Smother
2. ¥ Prosperous
3. % Genial

4. % Sacrilegious

Question Number : 143 Question Id : 92775911277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ® Vengence

2. # Vengance

3. % Vengeance



4. # Vengiance

Question Number : 143 Question Id : 92775911277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Vengence

2. # Vengance

3. % Vengeance

4. # Vengiance

Question Number : 144 Question Id : 92775911278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Dexterity

2. # Dexterety

3. % Dextirity

4. ¥ Dexteraty

Question Number : 144 Question Id : 92775911278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Dexterity

2. % Dexterety

3. ¥ Dextirity

4. % Dexteraty



Question Number : 145 Question Id : 92775911279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Reprobate

2. # Retrobate

3. # Reprobete

4. % Retrobeat

Question Number : 145 Question Id : 92775911279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Reprobate

2. % Retrobate

3. # Reprobete

4. % Retrobeat

Question Number : 146 Question Id : 92775911280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Audicious

2. % Audicous

3. ¥ Audacious

4. % Audasious

Question Number : 146 Question Id : 92775911280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Audicious

2. % Audicous

3. ¥ Audacious

4. % Audasious

Question Number : 147 Question Id : 92775911281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Serrition

2. # Sirration

3. % Serration

4. % Sarration

Question Number : 147 Question Id : 92775911281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Serrition

2. # Sirration

3. % Serration

4. % Sarration

Question Number : 148 Question Id : 92775911282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



Last straw

Options :

1. #® Unable to understand

2. ¥ The final event in a series of unacceptable actions
3. #% All over

4. ® Make all possible efforts

Question Number : 148 Question Id : 92775911282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Last straw

Options :

1. % Unable to understand

2. % The final event in a series of unacceptable actions
3. # All over

4. ® Make all possible efforts

Question Number : 149 Question Id : 92775911283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

At the drop of a hat

Options :

1. # Situation wherein one can enjoy two different opportunities
2. % Immediately; without any hesitation

3. # Be glad to see someone leave

4. ®¥ Looking in the wrong place

Question Number : 149 Question Id : 92775911283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

At the drop of a hat

Options :

1. ® Situation wherein one can enjoy two different opportunities
2. ¥ Immediately; without any hesitation

3. # Be glad to see someone leave

4. ® Looking in the wrong place

Question Number : 150 Question Id : 92775911284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Rank and File

Options :

1. # To be unhappy about something that cannot be undone

2. % When someone finds it difficult to choose between two alternatives
3. % Ordinary People

4. ® To stay up working, especially studying, late at night

Question Number : 150 Question Id : 92775911284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Rank and File

Options :

1. # To be unhappy about something that cannot be undone

2. ¥ When someone finds it difficult to choose between two alternatives
3. % Ordinary People



4. # To stay up working, especially studying, late at night

Question Number : 151 Question Id : 92775911285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Jump on the bandwagon

Options :

1. # Leave something alone if it might cause trouble
2. * Change alligiences

3. % Join a popular trend or activity.

4. % Keep something away

Question Number : 151 Question Id : 92775911285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Jump on the bandwagon

Options :

1. # Leave something alone if it might cause trouble
2. % Change alligiences

3. ¥ Join a popular trend or activity.

4. % Keep something away

Question Number : 152 Question Id : 92775911286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who lives in solitude
Options :



1. % Misanthrope
2. % Highbrow
3. ¥ Recluse

4. ® Placate

Question Number : 152 Question Id : 92775911286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who lives in solitude
Options :

1. # Misanthrope

2. % Highbrow

3. % Recluse

4. % Placate

Question Number : 153 Question Id : 92775911287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who is filled with excessive enthusiasm in religious matters
Options :

1. # Cynosure

2. % Heretic

3. ¥ Gourmand

4. ¥ Fanatic

Question Number : 153 Question Id : 92775911287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below



One who is filled with excessive enthusiasm in religious matters
Options :

1. # Cynosure

2. # Heretic

3. # Gourmand

4. ¥ Fanatic

Question Number : 154 Question Id : 92775911288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A group of followers hired to applaud at a performance
Options :

1. % Caravan

2. % Caucus

3. ¥ Claque

4. # Clique

Question Number : 154 Question Id : 92775911288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A group of followers hired to applaud at a performance
Options :

1. % Caravan

2. % Caucus

3. ¥ Claque

4. % Clique

Question Number : 155 Question Id : 92775911289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A series of stars
Options :

1. # Grove

2. % Hamlet

3. % Constellation
4. # Congregation

Question Number : 155 Question Id : 92775911289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A series of stars
Options :

1. # Grove

2. % Hamlet

3. % Constellation

4. # Congregation

Sub-Section Number : 2
Sub-Section Id : 927759580
Question Shuffling Allowed : Yes

Question Id : 92775911290 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The 32,000-word novella The Time Machine by H.G. Wells, published in 1895, is generally credited with popularizing the idea of time travel by
means of a time machine, a vehicle which takes the occupant backward or forward in time. Dozens of sequels and adaptations over the years have



further promoted the notion. Indeed, Albert Einstein’s Theory of Special Relativity lays the foundation for the possibility of time travel. So far,
no one has demonstrated the ability to travel in time. However, time machines have been constructed, and they do allow glimpses into the past.

The most efficacious time machine currently in existence is the Hubble Telescope, named after the American astronomer Edwin P. Hubble. Its
capability to locate distant astronomical targets and lock in on them, permitting their faint light to aggregate on its detectors, allows it to peer far
into the past. Light travels 186,000 miles per second. The Hubble Telescope has looked back in time at 10,000 galaxies whose light left them
billions of years ago. Therefore, utilizing the telescope as time machine, astronomers are able to contemplate galaxies as they were eons ago.

Although the telescope was launched into space in 1990, its inception was almost a half— century earlier as astronomer Lyman Spitzer Jr. mulled
over the possibility of a large space telescope in a 1946 report, “Astronomical Advantages of an Extra—Terrestrial Observatory.” Because the
earth is bathed in its constantly churning atmosphere, earth—based telescopes cannot penetrate deep space; the atmosphere distorts the view.
Telescopes were constructed on 20 mountains, but there was still no way to wholly escape the effects of the layers of gases enveloping the earth.

Sub questions

Question Number : 156 Question Id : 92775911291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, who lays foundation of time travel?
Options :

1. # H.G. Wells

2. % Lyman Spitzer Jr.

3. % Albert Einstein

4. % Edwin P. Hubble

Question Number : 157 Question Id : 92775911292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory of physics laid the foundation of time travel?
Options :

1. # String Theory

2. % Theory of Relativity

3. # (lassical Field Theory

4. ¥ Theory of Special Relativity

Question Number : 158 Question Id : 92775911293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Hubble telescope launched?
Options :

1. ¥ 1990

2. % 1946

3. % 1895

4. % 1995

Question Number : 159 Question Id : 92775911294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following is statement is incorrect?

Options :

1. # Telescopes were constructed on mountains to overcome the distorted view by the atmosphere partly.
2. ¥ Hubble Telescope is an earth based telescope.

3. # The novel The Time Machine was written by H.G. wells.

4. % Hubble telescope can look at galaxies as how they looked in the past.

Question Number : 160 Question Id : 92775911295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what has been compared to a time machine of the real world?
Options :

1. # Astronomical Advantages of an Extra-Terrestrial Observatory

2. ¥ Hubble Telescope

3. ® Theory of Special Relativity

4. # The novel The Time Machine

Question Id : 92775911290 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four



alternatives

The 32,000-word novella The Time Machine by H.G. Wells, published in 1895, is generally credited with popularizing the idea of time travel by
means of a time machine, a vehicle which takes the occupant backward or forward in time. Dozens of sequels and adaptations over the years have
further promoted the notion. Indeed, Albert Einstein’s Theory of Special Relativity lays the foundation for the possibility of time travel. So far,
no one has demonstrated the ability to travel in time. However, time machines have been constructed, and they do allow glimpses into the past.

The most efficacious time machine currently in existence is the Hubble Telescope, named after the American astronomer Edwin P. Hubble. Its
capability to locate distant astronomical targets and lock in on them, permitting their faint light to aggregate on its detectors, allows it to peer far
into the past. Light travels 186,000 miles per second. The Hubble Telescope has looked back in time at 10,000 galaxies whose light left them
billions of years ago. Therefore, utilizing the telescope as time machine, astronomers are able to contemplate galaxies as they were eons ago.

Although the telescope was launched into space in 1990, its inception was almost a half— century earlier as astronomer Lyman Spitzer Jr. mulled
over the possibility of a large space telescope in a 1946 report, “Astronomical Advantages of an Extra—Terrestrial Observatory.” Because the
earth is bathed in its constantly churning atmosphere, earth—based telescopes cannot penetrate deep space; the atmosphere distorts the view.
Telescopes were constructed on 20 mountains, but there was still no way to wholly escape the effects of the layers of gases enveloping the earth.

Sub questions

Question Number : 156 Question Id : 92775911291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, who lays foundation of time travel?
Options :

1. # H.G. Wells

2. % Lyman Spitzer Jr.

3. % Albert Einstein

4. % Edwin P. Hubble

Question Number : 157 Question Id : 92775911292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory of physics laid the foundation of time travel?
Options :

1. # String Theory

2. % Theory of Relativity

3. # C(lassical Field Theory



4. ¥ Theory of Special Relativity

Question Number : 158 Question Id : 92775911293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Hubble telescope launched?
Options :

1. ¥ 1990

2. % 1946

3. % 1895

4. % 1995

Question Number : 159 Question Id : 92775911294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following is statement is incorrect?

Options :

1. # Telescopes were constructed on mountains to overcome the distorted view by the atmosphere partly.
2. ¥ Hubble Telescope is an earth based telescope.

3. # The novel The Time Machine was written by H.G. wells.

4. % Hubble telescope can look at galaxies as how they looked in the past.

Question Number : 160 Question Id : 92775911295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what has been compared to a time machine of the real world?
Options :

1. # Astronomical Advantages of an Extra-Terrestrial Observatory

2. ¥ Hubble Telescope

3. ® Theory of Special Relativity

4. # The novel The Time Machine
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Question Number : 161 Question Id : 92775911296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ¥ qdap1ere fopd
2. % TRUme o
3. % Amyrg foean
4. % GG fohd

Question Number : 161 Question Id : 92775911296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR Al 7 9, 39 fdwed &1 994 &3 o1l foba1 o Y arer 9! fawed 8l
a1 3 THR TR fera|

Options :

1. ¢ gdaieres fobd
2. % TRUMe fopa
3. % YT foean
4. % Ggad T

Question Number : 162 Question Id : 92775911297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au&rﬁ,mﬁwﬁﬁ@r,wﬁmwmqw B S DhIgDh T fAU T Wsq & YR AU 7MW a1’ o oIl 31y o 0 &1 gl fddhed
[

3111 AR B (3AMTT) ISR &< B |
Options :

1. % fqurg

2. ¥ GHEGEIYD 3y

3. % fqwmrieaiys ey

4. % JdGYSIYD g

Question Number : 162 Question Id : 92775911297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ggi%«r@au%rﬁ,aﬂﬁwq‘fﬁ@r,wiamwwwﬂ ® ol DT U AT T Weg & TR T 7Y a1 o o 31 & Ug &1 el [daed
|

KIERECINESINIUEISINCERS
Options :

1. % fqurd

2. ¢ GHEGEIYD 3y

3. # fowmfdaiys sfoqg

4. % I9YSIYPH Y

Question Number : 163 Question Id : 92775911298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! # 9, 39 [dded &1 997 &< ol HIgaTad U311 $1 el [ddbed ol o
Options :

1. % ¢Rd

2. ¥ T

3. % GieuA

4. % gEeHl

Question Number : 163 Question Id : 92775911298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofied vy H, IR fawed! § 9, 39 fadhed &1 997 &< il HIadTrad 4311 $1 el fdded Te 5
Options :

1. % ¢Rdl

2. ¥ T

3. % o

4, % g@ar



Question Number : 164 Question Id : 92775911299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaiad vy H, IR fowddl 7 9, 39 fdded &1 997 & ol DIFH | QT U Xeq & SHR Fa-H & U &1 ! [dbed 8l
98 3T et (FqY) I

Options :

1. ¢ FSaras
2. % FAygaras
3. % gyardad

4. % Jfygara®

Question Number : 164 Question Id : 92775911299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl # 9, 39 fawhed &1 70 B Sl HIFH | U U Weg & AR A1 & Ve BT Jal fadbed gl
g8 3T et (FqY) I

Options :

1. ¢ fASTarad

2. % FygarasD

3. % JYddd

4. % fAYTATID

Question Number : 165 Question Id : 92775911300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufeRad Uy |, IR Al 7 9, 39 fawed &1 999 B3 ol favivur & Ne arel fdsed gl
EHEREENEICRREREAT

Options :

1. % g1

2. ¢ URHT dTeIdh

3. % Ff¥q Semaras




4. % UMD

Question Number : 165 Question Id : 92775911300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad uy A, IR fAwedl § T, 39 fawey &1 Taa B3 o faiwur & He arel fawey gl |
817 Ura fa grad @il

Options :

1. % gD

2. ¢ GRHT drIdh

3. % [Afyd Samaras
4, % T[UTdTIh

Question Number : 166 Question Id : 92775911301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifad uy ©, IR fawcdl 8 9, 39 [9sed &1 997 Y S <RI eg 71 Igt [adbed gl
Options :

1. ® dglg}

2. % faeR

3. ¢ UITal

4. % BIdl

Question Number : 166 Question Id : 92775911301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRed Uy o, IR fadbedl # 4, 39 fddhed BT 98 DX Sl G2/ol Yeg b1 Fal [dbed Bl |

Options :

1. % SR
2. % faqeRk



3. ¢ TSl
4. % Il

Question Number : 167 Question Id : 92775911302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & IR el § 9, 39 e & 9g= &3 S 3T 7TU Teg & forw It fgv garg & fore &1 faseu 8l
EGICH

Options :

1. % oI Wi

2. % G YT oAb

3. % A dlD

4. ¢ G Al BT IHE

Question Number : 167 Question Id : 92775911302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us o, IR fadedl § 9, 39 fddh ey &1 9= o Sl faU 1T 2 o forw Hal fg7] 9 o f99rg &1 fadbey gl
ERICD

Options :

1. % dHF Wb

Question Number : 168 Question Id : 92775911303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffad uy |, IR faeddl § 9, 39 [ddhcd &1 9= B2 SNl fST 7TU Weg BT TqH FU Bl




BRIGH
Options :
1. # YUt
2. % Ucd
3.5 Uy
4. ¢ Qg

Question Number : 168 Question Id : 92775911303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR fAdeul 7 9, 39 fawed &1 999 B3 Sl ST U Ueg T adH U gl
AT

Options :
1. # YUl
2. % Ucd
3. ¥ Uy
4. WG

Question Number : 169 Question Id : 92775911304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H, IR fowedl 7 9, 39 fdded &1 99 & ol DIFH | QT U Xeq & SHR Fa-H & U &I ! [dbed 8l

qH (M W R B
Options :

1. ® Fegarae

2. % RS
3. ¢ gyardad

4. % YD




Question Number : 169 Question Id : 92775911304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaiad vy H, IR fowdl 7 9, 39 fdded &1 99 & ol DIFH H QT U Xeg & SUR Fa-H & U &1 ! [dbed 8l

qH () W38 Bl
Options :

1. % Fygaras

2. % YIRS
3. ¢ gyarda®

4. % JFygaa®

Question Number : 170 Question Id : 92775911305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR eeal 7 9, 39 fahcd o1 987 & &l 2T W Yo & YTigaT! Weg b1 el [dbed el § |
gd

Options :
1. % Y

2. ¥ (b
3. % IR
4. % T}

Question Number : 170 Question Id : 92775911305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy &, IR fowddl 7 9, 39 fdde &1 99 &3 oY AT 7T Mee & vafgare) Wee &1 Ue! fawed 78l g |
Iy

Options :
1. % QR




2. ¢ Ui
3. % TR
4. % YR

Question Number : 171 Question Id : 92775911306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead Uy 5, TR fasedl § O, 39 fdd ey &1 999 &3 Gl faed Teg &1 Jad 3] [dhed B
Ufg

Options :

1. % @

2. ¢ URAlfhdH
3. % dob

4. % 3D

Question Number : 171 Question Id : 92775911306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & 3, 39 9wy 1 T B o {9 e T a9 33T fAbed 5|
Ufgh

Options :

1. % ¢

2. ¥ URAlhd
3. % dob

4. % 3D

Question Number : 172 Question Id : 92775911307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeRad Uy & IR fob el & T, 39 I8! fAhed o1 991 B3 S Il & foll U s 1 fdh ey B



Sl dTele § ST 8
Options :

1. ¢ IR

2. % rql

3. % Tara

4. % 3g

Question Number : 172 Question Id : 92775911307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fawedl & T, 39 T8 fAsheu o1 7gq B3 S a1l & fole U s 1 fasheu g
S dTelTE § ST 8

Options :
1. ¢ RIS
2. % Yrdl
3. % yardl
4.% g

Question Number : 173 Question Id : 92775911308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAofefad uy A, IR fomeal 7 9, 39 I8! faded &1 T &3 SN foTu 77U wreg & Tgt 31 &1 IfId fadweu g1
EISK

Options :
1. v J%d
2. % UgU
3. % R’
4. % PIcg




Question Number : 173 Question Id : 92775911308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad sy A, IR el § B, 39 I8! fah e &1 999 B3 o feT 71U Rieg & et 31 1 I fasweu gt
CISK

Options :
1. ¥ dbhd
2. % UgU
3. % O
4. % DS

Question Number : 174 Question Id : 92775911309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & arR fawed # 9, 39 el fawed &1 997 B3 S Rad RIM & o Iuged Weg &1 Je! fawea g |
Ge T Ul HUYT Dl b & ol fafie qHegURS EY

Options :

1. % Y

2. % YR
3. ¢ UIARd
4. % METY

Question Number : 174 Question Id : 92775911309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 el famed &1 99+ & Sl Rad RIF & o Iugad e &1 el [dhed g |
Goul Ul HUYT PI AP o forg faflre THegeRS gul

Options :
1. % o




2. % YR
3. ¢ TR
4. % QAT

Question Number : 175 Question Id : 92775911310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR fowedl § 9, 39 fawey &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. % Jur

2. % ORI

3. % gy

4. ¥ U

Question Number : 175 Question Id : 92775911310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy §, IR el # 9, 39 fAhed &1 98 &3 o g Vg &1 gt fApea B
Options :

1. % guqr

2. % TR

3. % gyur

4. ¢ R0

Question Number : 176 Question Id : 92775911311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 fadmed &1 98 H1 off G e B el [dhed g
Options :

1. % SRt

2. ¥ I



3. % g9y
4. % gaI!

Question Number : 176 Question Id : 92775911311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawedl § 9, 39 fawed &1 7o &L Sl Y Ueg &1 Gal fadbea 7
Options :

1. % SO

2. ¢ T

3. % Yl

4. % gLl
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fFofifed uy §, IR el 7 9, 39 fowea &1 9897 &% &Y fou 7T Weg & JHMIT Weg &1 fapeu 781 B
31 -

Options :
1. % fa<d
2. % Hgal
3. ¢ 3l
4. % g4

Question Number : 177 Question Id : 92775911312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % fod
2. % g
3.« 3R
4. % 5

Question Number : 178 Question Id : 92775911313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w ed &1 9897 &Y oY 9ed TWifeliT U T fasey g |

Options :
1. % HhaHl
2. % Y¥H
3. ¢ foman

4. % g

Question Number : 178 Question Id : 92775911313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed gy &, IR i edl § 9, 39 9t &1 I8 &Y oY Tad TWifell] ¥U Tl faehed g |

Options :
1. % el
2. % Y
3. ¢ oI

4. % dcd
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Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % dRT
2. % JHER
3. % Dlaf
4. % ol

Question Number : 179 Question Id : 92775911314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® dRI

2. ¥ AR

3. % DIl

4. % el
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 92775911315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

frafeRad Uy &, IR fadwedl § 9, 39 fadhed &1 I8 & ol HIND 1 fGU 1T e & SUR IAH Y3V I -1 BT Jad 3] [dabed




gl

Options :

1. ¥ (8H) B B ToRTd STd|

2. % (@8) VD d faagpd o o1 a1 T8l g

3. % (30 IYRY & O 3t dop arog 8 iR |
4. % (I9) 3 9 TBT APBR 33|

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

General Hindi2

10
927759464
0

120

No

No

0

20

No

General Hindi2

927759490
1

Online
Mandatory
16

16

20

Yes

1
927759582
Yes
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fFfcRad Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded ol |
T W B 3G B

Options :

1. % YU gdHHDT
2. ¢ JfeT™ aAAESTa
3. % A YD1

4. % 3TF YABIA

Question Number : 181 Question Id : 92775911316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafoRed Uy |, IR fadwedl 7 ¥, 39 fdded &1 999 &3 1) feT TN 9190 & &1d &1 ol [deed gl |
T WA PR AT 8l

Options :

1. % YT gD
2. ¢ T qaaFSTa
3. % Q= HiowdTd
4. % A YDA

Question Number : 182 Question Id : 92775911317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fawey &1 7= &3 S fou 78 arey & e gfy & e &1 9e o1 fdsed g |
9% 98 3% ¥ JaD! QU BT g |

Options :




1. % gopard
2. « e
3. % Fyra-ed
4. % faemdf

Question Number : 182 Question Id : 92775911317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl # 9, 39 faemed &1 7o &1 S fou T8 argd & e gia & e &1 9e 31 fdsed g |
9% S84 3% ¥ JaD! oOHTd BT g |

Options :

1. ® dpard
2. ¢ Tgmd
3. % Furary
4. % faegd

Question Number : 183 Question Id : 92775911318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy &, IR ieedl 7 9, 39 fahcd o1 987 & ot feU 7T are & ol u&f & Ve 1 9ad 331 fabeu g |
374 B BIB! Iel I ¢!

Options :

1. ® gAAaiY®
2. % Fgdrds
3. ¢ QUiAEa®
4. % YIfA=a®

Question Number : 183 Question Id : 92775911318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFofifad uy d, IR eeal 7 9, 39 fawcu &1 987 &% ot feu 7T are & fol ugl & Ne &1 9ad 331 faheu 3|
31d g9 HTP! Tl b !

Options :

1. % rady®
2. % MIdRae
3. ¢ QUiAEIa®
4. % FIfaEd®

Question Number : 184 Question Id : 92775911319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawet § 9, 39 fawey &1 7o &L Sl Y a1 T Ja 3737 fadheu 3|
Options :

1. % Uh TRY HY 91 a13])

2. ¢ T%h HY TRA 1T AL

3. % U 91 o3l TRA 6|

4. % Tp 919 HY TRH 13|

Question Number : 184 Question Id : 92775911319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawedl § 9, 39 fawed &1 70 &L Sl Y a1 T Ja 3737 fadhed g |
Options :

1. % U TRHA U I A1

2. ¢ U HU TRA AR AT

3. % Uh 919 13l TR Y|

4. % U I1G HY TRY d13]|

Question Number : 185 Question Id : 92775911320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadcul 7 ¥, 39 fdwed &1 999 &3 Il el d1ad He &l f[ddbed gl
I8 g3 Hedl ¢ b TR R sl

Options :

1. ® ggad I

2. ¢ By IR

3. % Hcgadd A
4. % IR I

Question Number : 185 Question Id : 92775911320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy |, IR faeddl | 9, 39 f[ddhcd &1 9= B3 S Jal a1 He &l [dhed gl |
98 g3 Hedl § fob IR 33|

Options :

1. ¥ ggad I

2.« Oy ar

3. % Yogarad didd

4. % I 9

Question Number : 186 Question Id : 92775911321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufRed Uy |, IR fadedl 7 ¥, 39 fdwed &1 999 &3 o1l el d1ad He &l f[ddbed gl
3 & fob 3met auf gl

Options :

1. % [qYTardes drag
2. % IR IR

3. ¢ 0y arey




4. % IgId a1

Question Number : 186 Question Id : 92775911321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufoRed Uy |, IR fadeul 7 ¥, 39 fdwed &1 999 &3 1l el d1ad He &l f[ddbed gl
3T @ fob 3met auf gl

Options :

1. % fayrdTes a1
2. % IR IR

3. ¢ Ty ar

4. % HYad qIRd

Question Number : 187 Question Id : 92775911322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 fadwed &1 o9+ &< SNt faR1 forg god a1 &1 ot fdded gl |
Options :

1. ¢ §dTd =GB, "h...2" Y=o BT ISR o g1 anfee?

2. % JATA A YBT Ha... Yord o1 SABR I g1 A1MRT?

3. % oA A ST B2 Y-ord & PR o g1 d1eT

4. % AT A GBI - hY - Y=iorg 1 ISR Ff g1 A1feW?

Question Number : 187 Question Id : 92775911322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed! & O, 39 fdewed &1 99 &< Sl fav1 g god a1 &1 Hal fadbeu gl
Options :

1. ¢ §dTd A GBT, "H...2" Yo BT ISR ol g1 A1fge?

2. % AT - UBT Ha... Y=o BT ISR Tl g1 A2



3. % AT A UBT H...2 Yord &1 SHAGR a1 g1 dlfeq
4. % ST A UBT - B - Y=o BT HABR F g1 A2

Question Number : 188 Question Id : 92775911323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy o, TR fasedl # 9, I fddhed &1 7= B Sl favH g god a1 &1 Hal fddbed gl
Options :

1. % 38 3T HeI TG cIb al TR §

2. ¢ "31" I FHal, "Ig TrH ol A 7"

3. % 31§ 3T 8T Ug Tl al T g

4. % 318 3T Fel - Ig AHb) al A 82

Question Number : 188 Question Id : 92775911323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fowedl T 9, 39 fdeed &1 9a 3 ol [aR1 g gad a1 &1 Hel fadbed |
Options :

1. % 3{Ig I B8l I8 TIb al BRI &

2. ¢ "3M1g!" ITA Fel, "Tg 1B dll A g

3. % 3157 3T HBI Ig B al B g

4. % 318 3T Hel - Ig bl al Al 82

Question Number : 189 Question Id : 92775911324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 9, IR fasedl O 9, 39 fdded &1 9g 3 ol faR1 fag gad a1 &1 Iel fadbed |
Options :

1. % BRI & IR A FHT qH U1 Y Ul 82T dl gAR XY | H1Rft & ST g

2. % HIRIRS & AR A FET: A YT Y Uiy 8T Al gAR XY, H H1Rft & IS g

3. % FHIRIRTS & AR A BT -gH 30T Y Ui 82T @l 8HR Y H H1Rf o Io §




4.« HIRTS & IR 7 g, "qH 30T Y Ui geT &, 89N Y H Hreft & o g

Question Number : 189 Question Id : 92775911324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad vy 9, IR fosddl T 9, 39 fdeded &1 9g= 3 ol faR19 fag gad a1 &1 Hel fdbed |
Options :

1. % BRI & IR A FHeT qH U1 Y Ul 82T &l gAR XY | H1Rft & AT g

2. % HIRIRTS o AR BT g 30T Y Ul geT o 89K Y, T Bl o ol g

3. % HRIRTS & IR A FHeT -qH U1 XY Uie geT ol gHR XU H H1RM & Io7 §

4.« HTRIRTS & IR A BT, "qH YT XY Uiy gl oY, TAR XU J SRl & T g

Question Number : 190 Question Id : 92775911325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforied oy & aR fawed # ¥, 39 fadmed &1 7u &3 off U 7T eTer &1 Tet o aran fawey 2|

IR TR UTg I@HR U -
Options :

1. % Sid SIET

2. ¢ S Y R

3. % ¢

4. % SR AT

Question Number : 190 Question Id : 92775911325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § 9, 39 fadmed &1 7a &1 off U T Tk &1 9e o aran fawed |

R W UTg T@H YT -
Options :
1. % SiYd ST



2. ¢ TSl I YRTHT
3. % ¢ @
4. % 3T HEAT

Question Number : 191 Question Id : 92775911326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & TR fawe # ¥, 39 fadmed &1 7 & off U U erer &1 et o aran fawey 2|
RIART THDT -

Options :

1. ¢ YRG! gIHT
2. % BRI IS ST
3. % YT g
4. % TOFIEH

Question Number : 191 Question Id : 92775911326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawent § 9, 39 fawey &1 7o &L S fou 78 eTar &1 Iet o aran fawea 71
RIART T DT -

Options :

1. ¢ YTIRITGH g1
2. % BINIS ST
3. % 3T BT
4. % TOFIEH

Question Number : 192 Question Id : 92775911327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & o fawed # ¥, 39 fadmed &1 7 &3 off U 7T erear &1 et o aran fawey 2|




A &P BT HaRAT -
Options :

1. % g g
2. % Il 1
3. % GF B & B
4. ¥ §gd A1db BT

Question Number : 192 Question Id : 92775911327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Uy & IR fawe # 9, 39 fawey &1 7 &3 off fau 7T Yerer o1 98t o aran fawe g1

UM & B Bl -
Options :

1. % GBI
2. % QI ST
3. % GU DI & HAl
4. ¥ §gd ATdTD g

Question Number : 193 Question Id : 92775911328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fdhea &1 987 &3 oY <t 715 Albifad &1 Tat 31 arelt fadbeu g1
30 TR dTadl! -

Options :

1. « @l SreHl gIRI &1 URATE ot Hxal
2. % U R o el €1 8

3. % 3O T Pl 81 7w ol

4. % TS T ATferes g




Question Number : 193 Question Id : 92775911328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoliad Uy & IR foeel ° ¥, 39 ey &1 Ta &1 ot <1 71 diopifad &1 Tet 3 arar ey g
30! TR d1dl -

Options :

1. ¢ Wt seHt gERl &1 IRaTg T8l Bl
2. % IO TR T I el gid &

3. % U I g1 Hgd &l

4. % TST &1 A1 BT

Question Number : 194 Question Id : 92775911329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fdwca &1 987 &3 oY <t 715 Albifad &1 Tat 31 arelt fawbeu g1
fraf T TR ofdl BIs d -

Options :

1. % 3O el bl @RI 7 gl

2. % RIS Al BT 97 8T

3. ¢ oot &1 81 IR il 3= &1 arHTf=ad gi-n
4. % 3gf wafer # xg

Question Number : 194 Question Id : 92775911329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofliad Uy & IR foeedl ° ¥, 39 ey &1 Tu= &1 ot <1 71 diopifad &1 Tet 3 arar ey g
fpdt BT TR oIl SIs dd -

Options :

1. % 30T S &I BRIS 9 Bl




2. % WIOHE afad & 9SHM g
3. ¢ fopdi ) g1 TR fopdd} 3/ b1 emTf=ad g
4. % U qUieT H gl

Question Number : 195 Question Id : 92775911330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiad uy & IR faeedl & T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tel 3 arar ideeu g
G S W B T HTNT -

Options :

1. % gUSI T gHS R BT

2. % gRYH 1 Ba Al

3. % @Iyt

4.« T O Ypid & aNT 3oy H et g o €

Question Number : 195 Question Id : 92775911330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fawea &1 987 &3 oY <t 715 Aibifad &1 Tat 31 arelt faweu g1
G S G 81 DY HTOT -

Options :

1. % gUS] BT 9HS R BT
2. % ORYH BT Hd A [HaT

3. % g@rcdl

4.« TUH SR UPHid & anT 3o H e g o §

Sub-Section Number : 2
Sub-Section Id : 927759583
Question Shuffling Allowed : Yes

Question Id : 92775911331 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (196 to 200)

3 fou T TR o 91 5 Uy AU TR § | 39 TR dl ATHgEd U 3R IR [d@wed B ¥ Udd Uy HT 9arad SR g |

TR AR & 7 Ay &3 3R gAY Aadt ol FAf¥a 7, 39 fou srawad 2rd g fos ARt 3ot emar oik Thaar # srds fayra
gl AR HiaR I 1, Tt SR 319 TH SEAMIRE &, S g1 Ufd gORl & fayr 1 Wisd #R <d 7] U fagraa ) o TR ¥ ¥ e |
YT, d1G8 aY &1 Ueh dTcTdh 31U TR H Sobell 81 Ug ST Bl UT| H© He I 916 g8 Sicies i IHb 1Y 3 1| I8 GE SIeteh Sgd
SIS YT T8 il 3R TART 1 Ho1al IU G Bl UT| SHDBT T UHTG g3 b 98 Ugen a1ciep i XU &1 71T IR d ST ekl bl
U& R T8 fob bIg ST ol A Y 1Y ST ST BT WAl § fob FRTRITETEY, SXUIh 3R Had SRAerd] b1 §Td B drell 9 g 381
MY T8I 3T Hd 3R 30 G- HI (a8l 3R SUBT FAd &1 THT 1 81l a8 A I ST ANfeY Fifch IHH ARG 3R ATAAH
B YT BT Wi BT IHT B

Sub questions

Question Number : 196 Question Id : 92775911332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 B TR GO AN GHRY Ftherdl 3R & R e fa4™ Hd 82
Options :

1. % Sd gH AU YHId s o

2. % O[d BHRT 96 R 31GS fayra gt

3. % O/d g9 g9 URYH o &

4. ¥ SIS GHRT Y {1 &FdT 3R Jhadl W Iy 8

Question Number : 197 Question Id : 92775911333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, T(pT 3R YT P STATHISE o} el T 82
Options :

1. % i Ig 3BT T8l &

2. % T UG §HR Y Bl TH BT 8

3. ¢ i U8 BHR forg gORi & fayTd &) Wfed #xd &
4. % Fifdr I8 GIRI BT Yol Hd &




Question Number : 198 Question Id : 92775911334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRT 30 $ 3IR (U <= B! a1 81 g1 § T B¢ ST AW
Options :

1. % Fifes g G -To} AT

2. % i ST §HRT WG TE! 81 Sl 3

3. % Y GHRI SMAIYR 3R SHTHIRG ¢ Sl 3

4. 3T GART SMTATTYNT 3R ETIRG WiSd 81 A §

Question Number : 199 Question Id : 92775911335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 A B - 1 b1 b1 faeiiA Ued 82
Options :

1. v e

2. % Hg

3. % T

4. % faRiy

Question Number : 200 Question Id : 92775911336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3T BT BIS SUYHd A
Options :

1. % 3G 1A

2. ¢ 3MHAIYY BT TG

3. % QIR BTG

4. % TARTRTATE AR

Question Id : 92775911331 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (196 to 200)

I fou T iR o 91 5 Uy AU T B | 39 TR ®l AHYEd g 3R R fawmed § ¥ Udd Uy &1 9araH SR I |

TR URY &1 &1 A4 H3 3R SHRI Thadl &I Rid A, 39 o Saxas 0 ¢ fob SART 3o &fdT iR Iwhadl § SRas fayra
Bl BUR HidR I 14, b1 3R 319 T SIS §, S AR Ufd GOkl & fayrg o) WS &R 3d 3] U faemer §, St 7R ¥ @R o |
YT, d1Gg Y &1 Uh dTcTdh 30 BR F SHbell 51 Ug ST Bl 41| ' He I a1 g8l dicies 1 IHb A1 31 TN| I8 GO sIeteb Sgdl
SIS 1| 98 Yl 3R ARI I He1-1al I8 FATIT Bl Ul SHbT THI UHTd g3 fob 98 Ugell Tereb Ht SXUIh 1 711 3R d a1 g&Rl bl
TRl R I [ D ST ol d Hi H1Y ST SHIY HeT Sf1ell & fob FRT=ITaTd, Sl SR Aad Swerdl b1 ol B arell d g2 1
T1RY| STBT 3T Hd 3R 30 GBI (3l 81 3R SUBT AT &1 THT -1 81l a8 F I ST AT Fiifeh THH ARG SR SATAIY
D1 HIGT BT WiSd g1 H 3|

Sub questions

Question Number : 196 Question Id : 92775911332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T5E & TR T8 AN GHRY Ftherdl SR &1 IR e fAY Hd 82
Options :

1. % §d gY (U1 YY1 &1 o

2. % Td §HRI I W WS Ay g

3. % Od gH TGS URYH B 3

4. T GHRT T 37U & 3R I aal W fayr &)

Question Number : 197 Question Id : 92775911333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, YT 3R 31 P STAHIEE Y Hel T 52
Options :

1. % Rifdb Ig 33T el o

2. % FfP I8 TAR WA B TH PRl §

3. ¢ Fifb I8 THR 1T gORl & Iy o1 Wfed o ©
4. % Fifd I8 GIRI BT Yol Hd &

Question Number : 198 Question Id : 92775911334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

WTET U Bt 3R 37U T Bt et 8 98T I i g W AIew?
Options :

1. % Fifd gg g1 131 =1y

2. % i IYY SHRT WHTG el 8 STl 8

3. % 3UY GART SATAIYR 3R SR §¢ ol 8

4. ¥ Y GHRT TARIYY 3R AT GiSd 8 S g

Question Number : 199 Question Id : 92775911335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
70 q DI - T Yol BT faaliH g 32
Options :

1. ¢ &icE

2. % Yyyg

3. % G

4. % Ry

Question Number : 200 Question Id : 92775911336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 39 1 D13 SUYH Qv
Options :

1. % 3rHAI BT g

2. ¢ ATHIYTH T HITT

3. % QIR BHIUY

4, % FARTRIMETE Wl




